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Symbols and Notation

Throughout this book we use the short form
of algebraic notation.

The Board
Each row of squares across the board is
called a rank, and is given a number start-
ing from White’s side.

Each row of squares running up the
board is called a file, and is given a letter
starting from White’s left-hand side.
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Each square is named by first giving the
file letter and then the rank number. In our
diagram a white rook stands on al, the white
queen at c2, the black king at g7 and so on.

The Symbols
We use symbols as abbreviations for pieces
and some chess terms.

& King
v Queen
X Rook
L Bishop
D Knight

The pawn symbol is not used in chess
notation.

0-0 castles on the kingside
0-0-0 castles on the queenside
X takes

+ check

++ double check

# checkmate

(D) see next diagram

We use ! to show a good move and ? to
show a bad move.

1! shows a move which is brilliant and very
strong whilst ?? shows a terrible move.

Writing the Moves
There are five things that may be written when
writing a move:

a) the symbol for the piece which moves
(unless it is a pawn, in which case no symbol
is used).

b) any necessary clarification of the file or
rank from which the piece moves.

c) a capture sign, if a capture is being
made.

d) the square to which the piece moves.

e) acheck symbol if the move played gives
check.

In the diagram in the previous column, the
white rook that stands on al can move to a8.
This would be written Xa8.

If the black rook on h7 moved to h6, this
would be written ..Xhh6, to distinguish it
from a move by the other rook from f6 to hé.
The three dots signify that this is a move by
Black.

If check is given, the check symbol will be
written after the move. In the diagram White
can give check with his rook on a7. This
would be written Xa7+.
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But if White does give check with his
rook Black could capture the rook with his
queen. This would be written ...¥xa7.

As the pawn has no symbol, the first of
our five steps is left out when we write a
pawn move. If White advances the pawn in
front of his queen, the move is written sim-
ply as c4. When a pawn makes a capture,
the file of departure is also given. Thus if
White moved his f-pawn forward and Black
then captured it, Black’s move would be
written as ...gxf3.

Naming Pawns

A pawn is named according to the file on
which it stands. In the diagram the pawn on
c3 is White’s c-pawn. The pawn on €6 is
Black’s e-pawn and so on.

Naming Pieces

If in the commentary it is necessary to dis-
tinguish between two similar pieces of the
same colour, each is named according to the
square it stands upon. In the diagram Black
has two rooks, his f6-rook and his h7-rook.

Some Chess Terms and Expressions

Blunder: a very bad mistake.
Combination: a series of moves, generally
including a sacrifice, aimed at gaining an
advantage.

Centre: the middle of the board, in particu-
lar the squares d4, e4, d5 and eS5.

En Prise: apiece is said to be en prise when
it is attacked and its capture would resultin a
loss of material.

Exchange, the: the material advantage of a
rook against a knight or bishop.
Fianchetto: the development of a bishop to
b2, g2,b7 or g7.

Flight Square: an escape square to which
an attacked piece, often a king, may run.

Initiative: a player has the initiative when
he begins to play forcefully and restrict his
opponent’s choice of replies.

Kingside: the half of the board to White’s
right: the e-, f-, g- and h-files.

Loose: a piece that is undefended.

Major Pieces: the queens and rooks.
Material: a general term covering both
pieces and pawns.

Minor Pieces: the bishops and knights.
Queenside: the half of the board to White’s
left: the a-, b-, c- and d-files.

Sacrifice: voluntarily giving up material in
the hope of gaining some other kind of ad-
vantage.



1 The Basic Mates

Mate with King and Queen
Mate with King and Rook
Mate with Two Rooks

Mate with Two Bishops

Mate with Bishop and Knight
Mate with Two Knights

Try for Yourself Solutions

AUV & W =

Checkmate is the aim of the game. If you are starting out in chess, you will need to know the
simple methods of mating your opponent when he has only his king left on the board. As you
get stronger, you will find that your opponents will usually resign and not put you to the test.
Even so, there will be times, particularly in quickplay events, where you are short of time
and your opponent plays on. Then you will have to have a sound and reliable method that
you can follow at speed before your flag falls.

The basic mates with queen or rook are easy. Those with the minor pieces are much more
difficult, but don’t worry too much about them. In fifty years of playing chess, I have never
been asked to checkmate with bishop and knight or with two bishops. Nor have I ever seen a

player having to do so.

8
10
12
14
16
18
18
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1 Mate with King and Queen

Trap the king in his coffin and nail the lid
shut! Here’s how:

a) Use your queen to make the coffin
smaller and smaller.

b) Use your king to give support.

c) Trap the enemy against the side of the
board.

d) But beware stalemate!
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In this diagram the black king is trapped
by the queen inside the rectangle of thirty
squares shown. This is his coffin. You must
make the rectangle smaller:

1 Wds (D)

Look at the next diagram and see how this
queen move has cut the black king’s rectan-
gle down to just twelve squares.

From now on you follow the simple
method:

a) If you can make the rectangle smaller
without it being stalemate, then do so.

b) If you can’t make the rectangle
smaller, bring up your king in support. By
using your king and queen in combination,
you will easily be able tomake the rectangle
smaller.

% 7 7
eize

a b ¢ d e f

There are several moves the black king can
make. It doesn’t matter which; our method
is just the same. Let’s suppose:

1 f6 (D)

a b ¢ d e f g h
| mom
s%y%g%@/@5
4 //// /@/@%4
3., ///,y /%y 7, |2
1 B N %2
1 % 7 7 1

What now?

Can you make the rectangle smaller?

No.

Should you give check, by 2 Wd6+ for in-
stance?

No. Check is usually a bad idea because it
lets the black king out of his coffin.

So, bring up your king!
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2 &d2
The king has a long and slow journey to
make. But there is no hurry. You have fifty
moves in which to deliver checkmate, so
the king will get there in plenty of time.
2 .. Lg6
3 Wes
Of course! White must make the rectan-
gle smaller.
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The black king has only two squares, 8
and g8, and he’s going to be trapped on the
edge of the board whichever he uses.

But as the king gets squashed into a
smaller and smaller space, remember stale-
mate!

a f 9 h

[
//,

’ > //// /
d % / //
Beware of these two positions. Black has

no legal move in either, so if it is his turn to
move it is stalemate and the game is drawn. A
silly way to lose half a point!
Now back to the play...
6 g8
Or 6. .Bf8 7 &g6 g8 and either 8 Wg7#
or 8 Wes#.
7 We7
Now the black king is shut inside a rectan-
gle of just two squares and nailing the lid on
the coffin is easy.

UIG)\IQ

7 .. <h8
8 dg6 g8
9 Wg7# (D)

a b ¢ d e f

8 // // 17 L
i u N 2& 7
L m m P
5/ / / /% S
0r9‘¥e8#(D)

a b ¢c d e f g h

/,/H/
////

»

/////

o o N ®
U’IO)\JO
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2 Mate with King and Rook

The method here is just the same as mating
with king and queen.

a) Use your rook to make a rectangle.

b) Use your king to give support to the
rook.

With a rook, the process is slower but the
good news is that you don’t have to worry
quite so much about stalemate.

If it is Black’s turn to move in the two po-
sitions below then he is stalemated.

d
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a b ¢c d e f g
7%@%/%%//@7
6 ////%%?6

5

If you follow the mating method you are
unlikely to reach either of these positions.
But remember:

It is very easy when playing chess to get
excited and carried away with your own
plans, especially when you are winning. You
must always remember your opponent is still
there and every time you are about to move
you must ask yourself the question ‘What
will he do next?

We will start from the position in the fol-
lowing diagram:

- N W S~ 00O N

% % //L '
Atfirstsight followmg our method it looks

as if you should play 1 Be4 (D) and make
the rectangle smaller.

//
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However, this does notbring you closer to
your goal. Black will simply play 1...&f5
and your rook will have to run away. The
rook is not as powerful as the queen, and it is
going to need more support from yourking.

Remember that if we can’t make the rect-
angle smaller then we bring the king up in
support:

1 &c3 &f4
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2 &d3 13
3 Hed (D)
And now the black king is trapped inside

a rectangle at White’s end of the board.

6 Hg3+ &hl
7 <R &h2 (D)
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What to do now? Your kmg and rook are in
perfect position but before you can give check-
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3 .. 12 mate you must waste a move:
4 He3 8 He3

You make the rectangle smaller Or 8 &f3 or 8 Ha3 — or any other rook move
4 .. Fg2 that doesn’t let the black king escape from his
5 <e2 (D) corner.

8 .. &hi

Black had only one possible move.

8 // // _ 8 9 Zh3# (D)
7%7//////%////7 a b ¢ d e f g h
6 6
: /% @ s 8 % % %% 8
%/ 5 5 7%/% 7, U U |
N\ 0.0 b o % W U Ys
N B P W U U U )
2 /%//Q/é/ % v 1 v
1c-x b/cd e f h 3/4 %// %// %zs
. ’ 2\ T &
Your king and rook work together to ; W W %

squash the king into his coffin.
5 ¢31 a b ¢ d e f g
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3 Mate with Two Rooks

This is the easiest of the basic mates. 1 .. *ds
a) Choose on which edge of the board 2 Xb5+ (D)
you will mate the enemy king. (It won’t mat-
ter which.)
b) First use one rook to prevent the king
from escaping in the opposite direction.
c) Then use the rooks alternately to drive
the king to its death on the edge.

a b ¢c d e f

%//%e
///%
///,

%g/ /%%

abcdefgh

%

Ll A T /- B R & B < » B

a b ¢c d e f g h

Your h4-rook prevents the king’s escape
and your b5-rook checks him and forces him
backwards.

- M W RGO N @
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b c d e T g n a b c d e f 9 h

Ehd (D) 3%%% ///% ////// 8

b ¢ d e f g h 7/%%%%1//%%7

6
8 %7 %7 %/ 8 %}/% %% 6
(BB WoBRD O L
‘o wmom B .-

(I o
5% % /; % 5 3 /// % /% % 3
4 V/ 7/ 7/ A 2%// é/// %// 2%2
3 Z/ 7. %// 3 ! . !
24%5%//////%2 a b c def g h
1 %% % % / ] The nextlogical step in our method would

be to play 3 Xh6+ but this allows 3...xbs5.

Not a good idea! Before you can play Xh6+
We have decided to mate the king on his  you must first solve the problem of your b5-

own back line and your rook has moved to  rook.

h4 to stop him escaping down the board. Move it!

abcdefgh
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Yes, but where to?

The rook must remain on the fifth rank,
where he is stopping the king from coming
back down the board. So, move him side-
ways as far away from the black king as
you can without getting in the way of your
other rook.

3 Hg5(D)

- N W N D

a b ¢ d e f g h

Problem solved! The rook is safe on g5
and the other rook is ready to move forward.
(Notice that if you had moved the rook
further away from the laing, to hS, your rooks
would be on the same file getting in each
other’s way and you would not be able to

play the rook from h4 to h6.)
3 . &d6
4 Xhé+

Your rooks work as a team, one block-
ing the king’s escape, the other checking
and driving him back.

4 .. Pe7
5 Ng7+ 8 (D)

~a b ¢ d e f g h

/%W
-
»
/%

g h

Now unfortunately 6 Zh8+ allows Black to
play 6...&xg7 so again your rooks need repo-

\
N y
- N W oA OO N @

abcdef

sitioning.
6 Ha7 P8
7 b6 (D)
a b c¢c d e h

\
NERNERN

Your a7-rook is stopping the black king es-
caping from his back line so he is powerless
against your next move:

8 Hbs#
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4 Mate with Two Bishops

This is a lot easier than it looks!

- N W A0 N

Your first step is to place your two bish-

ops side by side.
1 Red Feb6
2 &c3 &d6
3 Kd4(D)

- N W P+ OO N @
- N W A O O N

Step one accomplished! The two bishops
stand proudly together side by side.

The black king cannot cross the arrowed
diagonals, nor can he advance and attack the
bishops. He is trapped in a box consisting of
12 squares.

Your second step is to push the black king
backwards.
3 ..
4 dcd
The white king lends a helping hand in
forcing the black king towards the edge of
the board.

Peb

4 .. *d6
§ &d5 &d7
6 KeS Pe7
7 &c5 <d7
8 £d6 <ds8
9 Re6(D)

- N W 000N ®
- N W a0 N @

Step two accomplished. The two bishops
still stand proudly side by side and your king
has arrived to support them. The black king
is still unable to cross the arrowed diagonals
and now he is pinned to the edge of the board.

Your third step is to drive the king into the
comer and checkmate him.

9 .. Pe8
10 &6 <ds
11 ££7 (D)

You drive the king into the comer by pre-
venting him from going the other way.
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1 .. Lc8
12 fe7 <b8
13 <b6

Not 13 L2e6 La7. You must keep the
king trapped on his back rank.

13 .. Lc8
14 fe6+ b8
15 £d6+ a8
16 £dS# (D)

b ¢ d e f

%% =,
% 7 7

w_H W

Notice the movement of the bishops
from move five to move nine. They made a
zigzag pattern:

c d e

B nn |
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e%//%

abcdefgh

This is the key to the second step. The bish-
ops zigzag one square at a time up the board
whilst their king gives support. Each time the
bishops move up, the enemy king is confined
in a smaller and smaller space. Finally the
king is driven to a corner and mated.

Try for Yourself 1
Set up this position and see if you can check-
mate the black king:

a b ¢ d e f g h

/,/ _
/////%
. __

L
W mE
////%//

8%

= D @ b O N

abcdefgh

(You’ll find one way of doing it on page
18.)
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5 Mate with Bishop and Knight

It is very unlikely you will ever have to mate
with bishop and knight in a real game, but if
you do, these are the points to remember:

a) You will checkmate the king in a cor-
ner. If you have a light-squared bishop you
will need to drive the king to hl or a8. If
your bishop is dark-squared then you will
need to drive the king to al or h8.

b) All three of your pieces will need to
work together, building a box to trap the
king, stopping him from escaping and driv-
ing him into the comner.

c) In order to make things as awkward as
possible, the enemy king will attempt to run
away into the opposite colour corer to your
bishop. This doesn’t matter. Let him run!
You will trap him in this comer and then
drive him across the board into the same col-
our corner as your bishop.
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In this position we are well on the way to
checkmate as the king is trapped in a box in
the light-coloured comer. Now as usual you
make the box smaller.

1 &d7
2 Ra6 (D)

b8

%

/
/

The black king is trapped in a triangle of

squares.
2 . a7
3 £¢c8
You save your bishop and keep the king
trapped.
3 .. b8
4 De7 a7
5 &7

Now the black king’s prison has been re-
duced to only two squares...

5 .. a8
6 2b7+ a7
7 &xo# (D)

a b ¢ d e f g h

7 W

//,@/////
B = B B

...and now he has none at all!

\

O o N ®
l‘&
\
\

Try for Yourself 2
Suppose instead of 1...&b8 Black had played
1..&a7. How do you force mate? (One an-
swer is on page 18.)

Now you have seen the finishing stages we
must go back to the beginning! Take a look
at the position at the top of the next page.
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The white pieces are grouped together
as a barrier in the centre of the board. Now
you must try to drive the king to a comer.

1 Pc5 &f6
2 dds 17
The black king heads for h8. If 2...%g5,
then 3 de5 g4 4 $f6 and you drive him
where he doesn’t want to go, hl.

3 des g7
4 de6 &f8
5 6 g8

If 5...%e8 you play 6 Rg7 ¥e7 7 £d5
and the black king is already on his journey
to a8.

6 Des *h8 (D)
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The black king has escaped to the wrong
comner. No problem! You simply drive him
across to a8.

7 D7+
8 4fs!

Often you will have to make little moves
that don’t actually threaten anything! This
bishop leaves the black king with no choice
other than to go in the direction he does not

g8

want to go.
8 .. *f8
9 Sh7! Pe8
10 2e5 (D)

abcdefgh

//.9.7

o, e
/%//
o\ 7, 1, & s
5%/%/5

10 >ds

d

Try for Yourself 3

Suppose Black had played 10...f8 instead.
Can you force checkmate from this position?
(You will find the quickest solution on page
18.)

Now back to the play:
11 Pe6 L7
12 Dd7 Pc6
13 £d3!

Your bishop and knight keep the black king
trapped in the corner.

13 .. 7
14 £bS <ds
15 Hb6 Lc7
16 Hds+ b7

And you have reached the position we
started with on the previous page!
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6 Mate with Two Knights

You needn’t worry at all about how to force
mate with two knights. Because you can’t!

Here’s why.

Knights control squares, not lines. Unlike
the queen, the rook and the bishop, when-
ever knights move, they lose control over
all the squares they were previously guard-
ing. While king and two knights can drive
the lone king near a comer, they cannot trap
him in the comner itself without giving stale-
mate or allowing him to escape.

There are possible checkmate positions
when the king is at the edge of the board, but
your opponent has to make a really silly
mistake to allow you to mate him. In fact, he
can only lose if he overlooks a mate in one!

Look at this position:

abcde gh

%_////,%7
//7/

White can play 1 &6+ and if the black
king goes to h8 then 2 &f7# (D) is mate.

a b c d e f g h

L B
"y
W E now
B om e

But why should the black king go to h8
when he can happily go to f8 and escape out
into the middle of the board?

Try for Yourself Solutions

1) Here is one way the game might end.
Notice the zigzag route of the bishops:

1 2d2 $d4 2 Le2 Ped 3 Pc2 2d4 4
£2d3 d5 5 fe3 Pe5 6 2c3 2dS 7 244
*c6 8 ficd 2d6 9 bl Rc6 10 Lc5 Pc7
11 £d5 £d7 12 ¥bS ¥c7 13 £.c6 d8 14
£2d6 28 15 ¥b6 ¥d8

We have completed step two of the method
and now we have to drive the king into the
corner. We want to be able to play &e7 when
the black king is on c8. This means ‘wast-
ing’ a move somewhere with the bishop.

16 £b4 Fc8 17 Le7 b8 18 £.d7 Fa8

Now because 19 £d6 is stalemate we
must ‘waste’ another move.

19 g5 b8 20 Lf4+ La8 21 Lc6#

2) It’s mate in five: 1...&a7 2 $c7 La8 3
De7 a7 4 Hc8+ La8 5 L.c6it.

3) 10...5f8 11 Dd7+ e8 12 Le6 d8 13
#d6 de8 14 Lg6+ 2d8 15 DS 8 16
Lf7

White ‘wastes’ a move! If he plays 16
c6 straightaway, then 16...&d8 17 Db7+
&e7 and the king escapes.

16...%d8 17 Db7+ P8 18 Fc6

Now there is no escape.

18...b8 19 b6 c8 20 Le6+ b8

White need only deliver the final blow.

21 Has

Or 21 &\d8.

21...%a8 22 £.¢c8 ©h8 23 £a6

Another ‘wasted’ move since 23 2b77?
would be stalemate!

23...2a8 24 £b7+ b8 25 Hic6i
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Tactics are fun! They are little tricks or traps — weapons which you can use to catch out
your opponent and win his pieces or even checkmate him. A string of moves that involve a
tactical theme is called a combination.

Tactics are fun because there is a great sense of pleasure when you catch out an opponent
with something he hasn’t seen.

You will find tactical themes in the problems or puzzles published in books, newspapers
and magazines. It is a good idea to try to solve them. You will get a sense of pleasure when
you do so and the practice will give you great ideas that you can use in your own games.
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7 Decoy and Deflection

Mikhail Botvinnik’s game against Jose Raul
Capablanca at the AVRO tournament of
1938 is one of the most famous games in
chess history — and mostly because of one
move.

]
o
[¢)

&Q
N
N

\ﬁ
¥§\ N\
kel
[;::»

¥

b

\\

- N W N ®

A\
N W e N ®

%7 2 //%’ /
ar U
5 0 AT
a b ¢c d e f g h

Botvinnik played the startling 1 £a3!!
and the game continued 1...%xa3 2 Hh5+!
(a second surprising sacrifice to expose the
black king) 2...gxh5 3 WgS+ B8 4 Wxf6+
&g8 5 €7 (D), reaching this position:

a b ¢c d e f g h
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& T % T Al
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2 %/ %7 %/ x/é
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a b ¢ d e h

Botvinnik’s bishop has lured the black
queen away from her king. It deflected her

from where she needed to be. Capablanca’s
king was left alone and defenceless. He had
a few checks with his own queen but when
these ran out he had to resign as he had no
pieces with which to defend his king:

5..Wcl+ 6 2 W2+ 7 dg3 Wd3+ 8
Fhd Wed+ 9 Pxh5 We2+ 10 ¥hd Wed+ 11
g4 Wel+ 12 2hS

and Capablanca resigned.

You must always be on the lookout for
ways of luring pieces away from good de-
fensive squares.
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In this position Botvinnik, playing White
against Paul Keres at the Soviet team cham-
pionship in Moscow in 1966, realized if he
could play Wxh4 he would force mate on the
h-file.

The problem is that Black’s queen on d8
is defending h4.

Question: How to get rid of the black
queen?

Answer: Deflecther, force her away from
the defence of the h4-pawn!

1 Xb8!! (D)
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1...\Wd3+!! 2 Exd3 Hel# (D)

When you see that a powerful move is pre-
1962.

vented by a defender, find a way of dealing

In the position below Lustrov, playing  with that defender. Ludolf did just that as

Black against Ivanovsky in Moscow in

White in his game with Kots in Leningrad

Try for Yourself 4
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The black queen is attacked so she can’t
stay where she is and she will be gobbled

up by a white minor piece if she goes to e7,
f6 or g5. 1.. Wxb8 allows 2 Wxh4 so Keres

resigned.
1972, realized the white king is not as safe

as he seems.

The first step is to work out where you

would like White’s queen to be. Then you
should look for the move that will help you

get her there.
(The solution is on page 38.)

A sacrifice is needed to deflect the white

Indeed if he could get rid of the rook on
rook:

...»el would be mate.

dl,
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8 Double Attacks and Forks

You should always be on the lookout for
loose pieces in the enemy camp. Paul Morphy,
the great American champion of the 19th
century, was quick to spot his chance against
Mongredien in Paris in 1859:

- N W A OO N ®

a b ¢c d e f g h

This is a position from a game between
Engels and Stanti¢ at Nova Gorica 2000.

Black surprised his opponent by playing
1..Hxa7!.

Why? A rook is worth more than a bishop,
and surely White can capture the rook with 2

- N W A N
- N W P OO N @

Wxa7? Theblackrook on e8 and the bishop on a5
Yes, but then he is hit by Black’s reply are both loose so Morphy forked them very
2..8c5+! (D). simply with 1 Wad! (D).
a b c d e f g h a b ¢c d e f g h
7
8 % n 8 8 l/;/’_ ? 8
W m mAwe:  JKAK TAKAl
s%/ o m W
5 S8l 787 T s
‘ W A
3 3%% Dy P
: AT Gy ALY
1 d- W -t
a b ¢ d e f g h a b ¢ d e f g h

A fork or double attack! Both White’s Queens are useful pieces for making dou-
king and his queen are under attack. What-  ble attacks as they hit in several directions at
ever White plays, he will lose his queen. long range.
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Knights are also good forking pieces. ...but now comes the sting: 3...Wxel+! 4
They can hit in all directions at seemingly  Kxel &f2+ (D) and Black regains the queen
unconnected squares. Their awkward crab-  and remains a piece ahead.
like move means that a knight fork often

. .. f g
comes as a surprise — often as the sting in

the tail of a combination. 8 //y ///P 8
The next position, from a game played 7 // /% i ] dl7
by correspondence between Karafaieth and 6 / / 7 26
Kliesch in 1973, is a good example of the 5%/ // % 7 % % 5

knight appearing from nowhere to hit two / / 2 w %%
apparently unconnected squares: 4 /// ///% //% o
a b ¢ d e f g h 3 %y %Iy . /%/ 3

4 % 4
T AAFS W1
7 B w e me

a b ¢c d e f g h

You should always be on the lookout for
target or forking squares, especially when your
knight is aggressively placed.

Try for Yourself 5
In the game Nemet vs Giertz at Basle 2000
White spotted a target square for a knight

fork:
Black played 1...HxeS5!. Why? After 2 abcde f g h
dxeS Wxf2+ 3 $hl (D) the king has run
away into the comer and White seems to 8 %/ % %/ﬁ 8
have survived... 7% o . % 7
a b ¢c d e f g h 6 6
:  Tel) b °
7 2 P 7 4 4
,% /% /% 4,/ 3% 3
L, /%% 6 3
W, } > Dy 2l ;
1
: %’// /%} 7, : 1 a b c d e f : g h
v, % T )
ol A Y% 7 4 2 Can you spot the target square and work
; , ] out the sequence of moves which won mate-

rial for Nemet?
(The answer is on page 38.)
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9 Discovered Attacks

What do you notice about the position of the
two queens in the game Timman vs Anders-
son at Tilburg 19847

- N W s OO N @

a b ¢ d e f o9

Both queens are on the same diagonal.

Both queens are undefended.

Only the white rook stands between them.
When White moves his rook, the diagonal
will be open, so:

1 Bf3+!!' (D)

a b ¢ d e , g h
LK M maAl
) @&// » P
4 47& % ] 24
2 & W T T
1 . 7 & |

Yes, the rook is en prise ... but so is the
black queen! The rook move has discovered
an attack by White’s queen on Black’s queen.

Andersson resigned because he will lose
queen for rook.

Discovering an attack and particularly
discovering check allows a piece to venture
where it would not normally dare to go. The
well-known Petroff Defence opening trap is
a good example:

1 ed 52 D3 5X6 3 DxeS Dxed?! 4 We2
o16??

Now any move by the white knight will
open the line from the white queen on e2 to
the black king on e8 — it will discover check.

Question: where should the white knight
go?

Answer: where it can do most damage!

5 &c6+! (D)

- N W s~ OO N D

Yes, the knight is en prise but Black has to
get out of check. He doesn’t have time to
take the knight and he will lose his queen
next move.

You must always be on the lookout for the
chance of opening the line of attack for a
queen, a rook or a bishop.

The next position could have arisen in a
game Lein vs Polugaevsky at the Soviet
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Championship in Tbilisi in 1966/7, if Polu-
gaevsky had not resigned first:

a b ¢c d e f g h

a b ¢ d e f g h

White has sacrificed a rook. Why?

Because he realized that if his knight
disappeared from g6 he could deliver mate
by Wxg7#.

Lein’s idea was based on two tactical
themes:

1 De7+ (D)
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There’s a lot going on in this position!

The knight move has discovered the threat
of 2 Wxg7#.

The knight move is also check and a double
attack — it is forking Black’s king and queen.

If Black plays 1...Kxe7 he seems to solve
both problems. He’s captured the knight and
from e7 his rook is guarding g7 against the
mate threat.

However, Black has a third problem! His
rook is needed on e8 to defend his queen. The
fact that it must take the white knight deflects
it from this vital function: 1...HXxe7 allows 2
Wxc8+ &h7 3 Wxb8.

Try for Yourself 6
This position is from the game Bonch-Osmo-
lovsky vs Ragozin at Lvov 1951.
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Which of Black’s pieces could be in danger
on the same line as a white piece? Which
piece does White need to move to discover an
attack? Where should the piece go to cause
most damage?

(Answer on page 38.)
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10 The Pin

In this position the black rook on e5 stands  that when a piece is pinned it loses its power
proudly in the middle of the board. Can you to defend. In the game Cherniaev vs Beshu-
see why it might be in trouble? kov at Hastings 1999/00. White’s castled
position looks sound...

a b c d e f g h

abc e

a b ¢c d e f g h 1

AN W e N @

The rook stands on the same diagonal as a b c de

its king. After 1 Wdd it is pinned to the spot. ...but when we look closer we see that the
It is unable to move because the king would  pawn on f2 is pinned to its king by the black
be in check if it did. Black can defend with queen. The pawn should be defending g3.
1...Hae8 but then White will simply hit the  But it isn’t! Black can play 1...»g3! (D)
rook with his pawn and there is no escape: 2  forking queen and rook.

£4 (D). X et g

a h
abcdefg 3!%%%%3
8 %/ %;%/ 45l 7 %‘7
6 //////%7//%/‘/6 5 7 s
kK~ K I s | 1
(AT WO 3 Al
| B 7 GAe ! B® |

1 0 7 & |1 g n

a b c de f g h

In both of the positions we have just
As well as looking for ways to attack and  seen, the pinned piece simply was not able
to win pinned pieces, you should remember  to move.



In the next example the pinned piece
can move — and this makes a big differ-
ence!

No doubt Ivashin, playing Black against
Shamkovich at Gorky in 1946, thought that
ght.

White could not move his £3-kni

TACTICAL THEMES

He was wrong! The knight can move
and 1 £xe5 wins a piece since 1...2xd1 2

&f6+ gxf6 3 Lxf7# (D) is mate.
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27

Ivashin tried 1..2xd5 2 Wxgd f6 3 £xf6
before resigning.

This idea for breaking the pin came from a
game by the French master Sire de Legall
played in 1787: 1 ed €52 £f3d6 3 f.c4 fgd
4 &c3 g6? and Black was mated by 5 Zxe5!
fxdl 6 Lxf7+ Pe7 7 DdSH.

You must remember that a pin is only a to-
tal pin when a piece is pinned against its king.
Then it cannot move. If a piece is pinned
against another piece then it can move even if
it is usually not safe to do so.

Try for Yourself 7
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%
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Finding the pin for White in this position
from Brundtrup vs Budrich in Berlin 1954 is
not too difficult, but winning is not quite as
easy as that! You are going to have to look a
bit further to find out how White wins.

(The solution is on page 38.)
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11 The Skewer

Tan, playing Black against Mecking in the
1973 Petropolis Interzonal, was possibly
quite happy with this position.

- N W O N O
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g h

But then 1 £xf7+! put an end to any state
of happiness! Tan had no choice: he had to
recapture with 1...8xf7, whereupon he was
saddened further by the second sacrifice 2
Exc7+! (D).
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Tan’s king and queen are forked so again
he has no choice: 2...8xc7.

Now Mecking produced the killer move
of his combination, 3 Wh7+ (D).
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Tan’s king and queen have been caught
on the same line. They have been skewered.
The king is in check. He must move. The
queen will then be captured.

Mecking was very imaginative to realize
that Black’s king and queen would end up
on the same rank.

You must be imaginative and visualize
enemy pieces coming together on the same
line!

- N W A, OO OO N®

Think! Where would White like Black’s
queen to be in this position?
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In the game Bena vs Ksarko in Romania
in 1971 White lured Black’s queen onto the
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In this position which black pieces are

When the king moves, the black queen is
loose? Is one of them on the same line as an-

lost.

line you should always be thinking of pin and

skewer.

other piece? Can you see a possible skewer

Whenever you see two pieces on the same
and what White must do to set it up?

Try for Yourself 8
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In the next example, Nigel Short spotted

Rafae] Vaganian’s king and queen on the

same diagonal in Barcelona in 1989.
He realized that the immediate skewer 1

is lured to a fatal square) where she was
promptly skewered: 1...¥xh1 2 Wh8+ (D).
Wc3+ would get nowhere as the king would

h-file with 1 Bh1+!! (a decoy — the queen

The game is Espig vs Briiggemann from
the 1973 East German Championship, played

at Erfurt.

(The answer is on page 38.)

1 Ke5+! forces 1..&xeS and now 2

side-step to g6 and defend the queen. So he
Wc3+ (D) is a winning skewer.

lured the king forward with another skewer.
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12 Interference or Line-Blocking

Najdorf, playing White against Matano-
vi¢ at Mar del Plata in 1961, has his eye on
g7. Only the blackqueenon c7 is preventing
the immediate 1 Wxg7#.

Can the black queen be deflected away?
No!

Question: How do you deal with her?

Answer: Block her line of defence!

1 %f7+ (D)

8 8
7 7
6 6
5 5
4 o 4
3 2 3
2 o 2
1 p=¢ 1
a b c d e f g h

The white knight is blocking the line of
the black queen from c7 to g7 so 1...%g8 is
answered by 2 Wxg7#. Taking the knight

is no better: 1..2xf7 2 Wxg7# (D) is still
mate.

%

/
ieie
g h

The f7-bishop interferes with the move-
ment of the black queen. Her line to g7 is
blocked and Black is mated.
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In this position Reshevsky, playing White
against Persitz at Haifa in 1958, wants to
play 1 Xh3 and 2 Wxh7#. He can’t. There’s
a black bishop on c8 attacking h3.

Reshevsky cannot deflect the bishop away
so he blocked its line with 1 &5 and Persitz
resigned, because after 1...8xf5 (1...gxf5 is
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answered immediately with 2 Rh3) 2 exfS defending queen on g4, but he missed the
(D) Black will have to give up his queento  chance to interfere with the defender.
prevent 3 Bh3 followed by mate with the 1...%g3+ would have blocked the line and
queen on h7. after 2 hxg3 (or 2 gl), 2..Wxg2# (D) is
mate.

- N W b OO N @
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a b ¢ d e f g h

You should always be on the lookout
for ways of dealing with enemy defensive The white queen’s line to g2 is blocked.
pieces.

Try for Yourself 9
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Burlage forgot this when here he played
1...Wxd7 and went on to lose to Happel at  Can you see which black piece is the annoy-
Wijk aan Zee in 2000. ing defender in this position and how White

Burlage must have seen that 1...Wxg2+ deals with it?
would be mate if it were not for White’s (The answer is on page 38.)
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13 The Intermezzo

32
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After 2 @hl (or 2 @hZ) 2...2xel (D)

White has to give up his queen to avoid mate

He didn’t have to capture on e5 at all.
on g2.

He had a far better move!
He could have played 1...8f2+ (D).
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This position comes from a game between
John Emms and Peter Wells at the 1989 Brit-

ish Championship in Plymouth.
Emms played 1 £.xe5 (D), capturing the

bishop and attacking Black’s queen.

The move 1... W2+ is an intermezzo, an

Why did two of England’s brightest young
players, both to become grandmasters, miss
in-between move. Both players were con-
centrating on the point of action, the square

something so obvious?

Wells considered his options, decided on
1...Hxe5 ... and immediately realized that he

Wells was faced with the decision of how
to recapture. Both of his knights, his queen,
his rook and his d-pawn can take the bishop.
What move do you think Black should play?
had made a mistake!
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€5, and this concentration took their minds

off other things.

If you walk into any clubroom or tour- 8 x WB
nament hall you will see players instinc- 7 /% % % ‘ / ‘ 7
tively making recaptures or obvious moves 6 / 6
without any thought at all. Usually their 5 /%1/ /2% 5
decisions will be correct but sometimes the
position will contain an in-between move 4 W/ /Q.% /// %4
e s it tave [ g

i 2 " 2
a quick look for a better one! Don’t waste & % 9 / %é %
clock time, but do avoid responding auto- ] b - 2 / 1
matically. a ¢ e
abcde f g h Kantorovich soon had to resign. He paid
: the price for not looking any further than the
8 %y/ /’%’ 8 obvious. The thought of an intermezzo had
7%y %% 4 %‘ - _ %/‘ 7 not entered his head.
6 4 6
% ”}"/ /% %/‘ Try for Yourself 10
° 4% ., /@ %% °
4@/@@. ", ///,7 o
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In this position Kantorovich has just
played 1...£.c6, attacking Aronin’s queen
in their game at the Soviet team champion-
ship in Moscow in 1960.

Kantorovich naturally assumed that since
the queen was attacked she would have to
move. He didn’t look for anything else and Sherwin, playing Black here against Ros-
was stunned by 2 Qe5! (D) forking the c6-  setto at the PortoroZ Interzonal in 1958, seems
bishop and mate on f7. Black has to deal to have a choice. He can regain his piece by
with the threat of mate, but however he 1...exd6 or 1...Exb3. Which is better?
does this he will lose some material be- Which bishop should Black take?
cause of White’s other threats. (Answer on page 38.)
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in the way with 4 Xb1 but the queen found
8

another check, 4...%d4+ (D).
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in their game at the Isle of Man tournament
in 1999 but his attack had apparently ground

piece to open up Rowson’s king’s position
to a halt.

Sutovsky, playing Black, had sacrificed a

14 Perpetual Check
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White’s king seems safe and Sutovsky has

no obvious compensation for the piece he
has sacrificed. Sutovsky played 1...Ha5+! 2

bxas Wad+ (D).

The black queen still has a perpetual check,

Rowson tried 3 Wa2 and was promptly
checked again by 3...%d1+. He put his rook  this time using the squares a5, c3 and el.

How can White escape from check?
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You should remember that half a point is
better than nothing! If your attack has run
out of steam, look for a way of cutting your
losses.

Knowing that you have a perpetual check
can also enable you to be brave. Imagine
you are attacking. You see that you can
sacrifice pieces to smash away the king’s
defences. But are you winning? There are a
lot of variations. It’s complicated. You are
not sure. If you can see that you have at
least a draw by perpetual check it may be
worth going ahead with the attack. You can
look for ways of winning as you go along
knowing that you won’t lose!

- N W O N ®
- N W b OO N ®

Here, P. Omstein had done just that. He
had invested a rook and knight in his attack
against T. Svensen at Gausdal 2000.

35

and played 1...&h7?, allowing 2 Wf7+ Wxf7

3 Axf7+ g8 4 e8W+ (D).
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abc

It is mate next move!

Try for Yourself 11

a b ¢c d e f g

2
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Ormnstein had not been able to find a way
to win but he was happy because he knew
he could draw by perpetual check: 1...&g8

Vitolin§ was three pawns down with no obvi-
ous compensation in his game with Bukhman
at Riga in 1976. How did he save himself

2 Web+ g7 3 W6+, etc.
Omstein was happier still when Svensen
cracked under the pressure of the attack

from this desperate situation?
Perpetual check of course ...
(The answer is on page 38.)

but how?
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15 Stalemate
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This position is from Kljako vs Vezzosi at
Martigny in 1988.

Vezzosi would have calculated that he
could avoid perpetual check. No doubt he
was expecting to win the endgame with his
two extra pawns. He was not expecting the
continuation 1 Hgd+!! fxgd 2 WI5+! Sxf5
(D).

8 7//@ 7, %y 8
7%7 //%/ @7 ///%// ’
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4 rYilg 7Y |
s 7 WA e
oA\ 7 7 T Ik
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Stalemate! Vezzosi is a queen, bishop and
two pawns ahead but White’s king has no
legal move and his pawns are all blocked.
Draw!

Let’s look again at what happened. Vezz-
osi had to play 1...fxg4 because his king
and queen were forked. But he didn’t have
to continue 2...&xf5. He could have played
2... g7 or2...%e7. Inboth cases White sim-
ply chases after the king with his queen until
Black is forced to capture her with his king.
For example, 2...%e7 3 W7+ &d6 4 Wd7+

(D).
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Now 4...&xd7 is forced and we have an-
other stalemate position. Draw!

As we said with perpetual check, half a
point is better than nothing! Normally it
seems that stalemate is only likely to arise
when one player has just his king and per-
haps a pawn or two left on the board. Yet the
above example shows that you should be
alert all the time. Often a stalemating move
will come completely out of the blue.

In our next position Murey (playing
Black) caught Titenko with just such a stun-
ning move in Moscow 1963.
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you have to be alert to this

The clues to look out for are blocked pawns

But as you have seen, stalemate can some-
and a king without space. Then achieving
stalemate is a matter of sacrificing the re-
maining pieces.

In every position when you are planning
your move, you should be asking yourself the
times arise when there are still several pieces

question ‘What will he do next?’ If you do
this in simple endgame positions you will

never blunder into a silly stalemate.

on the board ...
possibility!
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A rook down and with no hope of per-
petual check after 1...Wd1+2 &h2 Wd2+3

&h3, Murey discovered the way to draw:

Try for Yourself 12
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This position is from the game Fichtl vs F.
Blatny at Bratislava 1956. Thinking that he
was winning easily, White has just played 1

n

1...Wcl1+!. Murey’s queen is forking king

and queen so 2 Wxcl (D) is forced.

W/,

® N O WO ¥ M N -

Stalemate. Black does not have a legal d6??. How does Black save himself?

move. Draw! Murey has saved himself.

(The answer is on page 38.)
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Try for Yourself Solutions

4)

If White could put his queen somewhere
on the long al-h8 diagonal it would be mate.
How to get her there? White cannot play 1
W3+ Hxc3 or 1 We5+ Wxe5 straight away
so Ludolf played the deflecting move 1
Hd8+!! first. Now both 1..HXxd8 2 Wc3+
and 1...¥xd8 2 We5+ lead to mate, so Kots
resigned.

5)

d7 is the target square so first Nemet de-
flected the f6-knight: 1 Exed Hxed. Now
the obvious 2 &d7 fork gets nowhere due
to 2..Wbd 3 Wxb4 axbd 4 Dxf8 Lxf8, so
Nemet played 2 Wxf8+! 2xf8 3 H)d7+ and
came out a piece up.

6)

On a5 the black queen is loose and on the
same line as White’s queen. A move by the
c3-knight will discover the attack. 1 $Hd5!
threatens 2 @e7#. If Black avoids the mate,
he must leave his queen to be captured.

7)

White can pin the black queen to her king
with 1 £.¢5 but Black has a pin of his own:
1...8b6!. It looks as though Black has es-
caped until we remember that Black’s queen
has lost her power of movement. White can
now play 2 Wf4+ forking king and queen.
Black cannot play 2..Wxf4 so his queen is
lost.

8)

If Black didn’t have a pawn on {7 then 1
Hxg7+ would be an immediate skewer and
Black could resign. But Black does have a

pawn on f7. So, get rid of it! After 1 £g5+,
1...£6 is forced since 1...%e8 2 Ed8# is mate,
but after 2 £xf6+! Black resigned, since
2...gxf6 3 Rg7+ costs him his c7-rook.

9)

White wants to play Wh2+ and give mate
on h7 so he has to deal with the problem of
the black queen. He blocks her line spectac-
ularly with 1 £2e5!!. Black cannot both save
his queen and avoid mate. (Note that 1 2e5
allows the black king to escape by playing
1..&g8.)

10)

Both of them! First Sherwin played the
clever intermezzo 1...£3+!. White’s king and
rook are forked and after 2 &xf3 the capture
2..Hxb3+ is check! After White moves out
of check, Black has time to capture the sec-
ond piece on d6.

11)

White needs to smash open the black
king’s position to get a perpetual check with
his queen, but he has to be careful how he
does it. The obvious 1 Hxg6+ gets nowhere
after 1...fxg6 2 Wd8+ &7 3 Wc7+ Fe8 4
Wcs+ Le7 5 Wc7+ Dd7! 6 Wd6+ 2d8 be-
cause White has no more checks. To draw,
White has to check first with the queen: 1
Wd8+ ¥h7 2 Exg6. Now 2..fxg6 3 We7+
and 2..xg6 3 Wf6+ h5 4 W3+ both
leave Black unable to escape the checks.

12)

Firstly Black first gets rid of his bishop by
1..82.¢6+ 2 Wxc6 so that his king is tied up
and he has only a rook which he can move.
Secondly he gets rid of the rook: 2...2gl+ 3
Pxgl stalemate!
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Before you turn over the page, remember two things:

a) You can be winning a game in the opening. You can be winning in the middlegame. But
no matter how well you have played, you can still mess everything up in the endgame.

b) There are only a few pieces on the board so at first glance endgame positions seem sim-
ple. They may be simple, but the problem is that you have to play with great accuracy. One
small error can be fatal.
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16 The Opposition

Set up this position on your board.

- N W A OO N @

a b ¢ d e f g

Let’s suppose that White wants to get his
king to the far end of the board, to any square
on the eighth rank.

Can he get there?

Does it matter whose move it is?

Let’s see. Suppose it is White’s move.

The white king can’t advance to f2, e2 or
d2 because the black king is blocking or op-
posing him. The white king has to move
sideways. Suppose 1 d1.

What does Black do?

1..%d3! (D)
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Of course! He continues to oppose the
white king.

Every time the white king takes a step
sideways the black king follows and opposes

him. The white king will never get off the
first rank. We say that the black king has the
opposition; he is stopping the white king
from advancing.

Now let’s suppose it is Black’s turn to
move in the original position.

The black king will either have to retreat
or move sideways.

Suppose 1...&d3 (D).

3/7/%,
%

B _

§

a b ¢ d e f g h

Black no longer has the opposition. He at-
tacks €2, d2 and c2, but not f2. The white
king can escape from the back rank and be-

gin his charge up the board.
2%f2 (D)

f_meE
2 % /// ,/” B

abcdefgh

2..bed 3 g3 Sf5 4 Shd g6 (D)

a
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The white king has hit the edge of the
board. He seems to be blocked, but...
5egd (D)

The white king has the opposition. He
attacks h5, g5 and f5. The black king will
have to give way again and White can con-
tinue his advance up the board. By repeat-
ing the same method again and again the
white king will eventually reach the eighth
rank.

Let’s go back to the original position
and suppose the black king retreats with
1..%e4 (D).

After this, which square should the
white king go to?

Well, White does not want Black to gain
the opposition and that is just what will
happen after either 2 ©f2 &f4 or 2 ®d2
&d4.

White must keep the opposition for him-
self. He should play 2 &e2! (D).

‘abcdefgh
8L 0, //, /// 8
6 //y // // %6
st /% P
4 Q/ 2a
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abcdefgh

White has the opposition. The black king
must give way and White can advance.

Having the opposition is often the differ-
ence between winning and drawing king and
pawn endgames. Practise king vs king a few
times yourself and make sure you understand
the idea.

Try for Yourself 13
The white king is trying to get to the eighth
rank.

- N W d 00 O N O

a b ¢ d e f g h

What will happen if Black plays:
a) 1..&f6;b) 1..2f7;c) 1..e7
d) 1..£d7;e) 1..&d6

(Answer on page 60.)
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17 Promotion and the Opposition

Having the opposition is most important
when trying to promote a pawn.

a b ¢ d

f g h

//,é//
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If it is Black’s turn to move in this position
then White has the opposition and White
will win: 1...2d8 2 d7 &c7 3 &e7 (D).
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The white pawn will promote on the next
move.

If it is White’s turn to move in the original
position then Black has the opposition and
White will not win:

1d7+ &d8 2 £d6 (D)

2 7

Y /%
/4% 6
I

Stalemate! Black has no legal move, so
the game is drawn.

"

Of course if it is White’s move he does
not have to play 1 d7+. He can try fiddling
around with his king, hoping to lose a move.
If he can return to the original position with
Black to move, then White will win.

Black has to be careful!

He must not lose the opposition!

After 1 de5 &d7 2 &dS (D), where
should the black king go?

- N W A~ OO OO N @

cdefgh

Black needs to keep the opposition. He
will lose the opposition if he plays 2...%e8 3
&eb or if he plays 2...&c8 3 Lc6.

Black has to play 2...%d8! (D).

If White plays 3 e6 Black keeps the op-
position with 3...2e8.

If White plays 3 %c6 Black keeps the op-
position with 3...&c8.
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For Black, having the opposition is the
difference between drawing and losing.

If the pawn has not already reached the
sixth rank, the general rule is that to win
you will need both:

a) to have the opposition.

b) to get your king in front of your pawn.

In this position if it is Black’s tumn to
move he will draw: 1...&d6 2 d5 &d7! 3
Pes Le7 4 d6+ 2d7 5 2dS d8 and we
have the position in the last diagram on the
previous page.

If it is White’s turn to move he can win,
but only if he plays 1 &eS 2d7 (if 1...%c6,
White wins with 2 &e6! and not with 2
d5+7? &d7, which only draws) 2 d5, when
he has gained the opposition and forces the
black king to give way. 2...&e7 3&c6 (D).

abcdefgh

43

Black can only choose how to lose!

The variations 3...2e6 4 d5+ &e7 § &c7,
3..%e8 4 dc7 Le7 5 dS and 3..3d8 4 Ld6
$e8 5 L7 Le7 6 dS all reach the following
position:

/7 8
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%////,/e
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The white king shepherds the pawn to the
queening square.
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Try for Yourself 14
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Itis White’s move in this study composed
by Jan Drtina in 1908. Can White win?

Remember the rule: to promote the pawn,
White must get his king in front of it and be
able to gain the opposition.

(The solution is on page 60.)
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18 The Rook’'s Pawn and Stalemate

In the diagram below White can get his king
in front of his pawn. He may even gain the
opposition. But he cannot win!

a b ¢ d e f g h

Let’s play a few moves and see why Black
can draw.

1 Ded 2f6 2 2fd g6 3 Lgd Thé 4

h4 (D)

a b c d e f g h
oL 2 L, ok,
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White has the opposition so the black king
must give way:
4..%g6 (D)
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The move White wants to play now is 5
&i5, but sadly the square i5 does not exist!

White has hit the edge of the board and
there’s no way for hisking to make progress.

Let’s suppose White now continues try-
ing to advance his king and pawn:

5dgd $h6 6 hd £g6 7 h5+ Th6 8 Thd
g7

Black has happily retreated with his king.
He doesn’t even have to worry about losing
the opposition because 9 g5 &h7 10 h6
g8 11 g6 ¥h8 12 h7 (D) is stalemate.

@@

- N W Hsd OO N D
A i\\gx
\
A\
\
A\
- N W A 00O N ®

a b ¢ d e f g h

[ 7 B W
o m mAl
| B @ e
B om e B |

The square i7 does not exist either!
Once he is in the comer, the king is safe;
the game will always end in stalemate.
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19 The Wrong Bishop

In the diagram below White is not just a White’s problem is that his bishop operates
pawn ahead. He’s got a bishop as well, but  on the wrong colour squares.

he still cannot win. To drive the king from the comer White
a b c d e f h needs a dark-squared bishop.
8 / / 2 If his bishop stands on b4...
7 2 %’/ a b c de f g h
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Let’s play a few moves and see what

happens: 1 £d4 Le6 2 Ped 2f6 3 Tf4 a b ¢ de f gh

$g6 4 g4 Sh6 5 4 Lg6 6 h5+ Th6 7 ..he willwin because he can play 12 £.¢3+
fc2 g7 8 g5 g8 9 g6 Xh8 10 h6 g8 13 h7+ (D).

g8 11 £b3+ Th8 (D).

b ¢ d e f g h

a b ¢ d e f
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a b c¢c d e f g h

Now the black king cannot sneak back into
White cannot drive the king from his his comer. The h8-square is under White’s
comer! control and the pawn will promote.
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20 The Rook’s Pawn and the Trapped King

In the diagram below the black king cannot
reach the blocking square h8.
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However, if it is Black’s move, he can
play 1...&f7! (D).
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White now has a problem. Black has the
side opposition! White’s king cannot go to
g6, g7 or g8 so he cannot get out of the way
of his own pawn!

After 2 hS &f8 3 h6 174 ¥h8 ¥£8(D)
White’s king is trapped in the comer and he
can only choose which way he wishes to
draw:

c d e f g h

W
////
- B

a) 5 ¥h7 &f7 6 ¥h8 Lf8 and the kings
can dance all night.
b) 5h7 &£7 (D).
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Now White has no legal move. Stale-
mate!

White’s only way of getting his king out
of the comer would have been on the third
move. Instead of 3 h6 he could have played
3dg6 (D).

a [+

§\\

The white king has escaped but Black
will grab the comer for his own king with
3..g8, with a draw.

This all seems straightforward but as al-
ways in chess you have to be careful!
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The plans for both sides are obvious.
White’s king will try to march across the
board and snaffle the pawn on a7.

Black’s king will try to march up the
board and arrive on c7, where it will trap
the white king in the comer.

Let’s see what can happen:

1 ¥e7 2c3 2 2d7 Pcd 3 Pc7 5 4
&b7 2d6 5 ¥xa7 ¥c7 (D)

//
=~

6rﬁ/////

.

Both sides seem to have achieved their
objectives and we have the same sort of po-
sition we saw on the last page. The white
king cannot escape from the corner and the
game is drawn.

Yes, but this did not have to happen!

@

7
6

In chess the shortest route between two
points is not always a straight line!

47

The white king can go to a7 by either of the
routes shown on the diagram. The diagonal
journey appears longer but they both take five
moves.

5
"//4

//// //, //z

abcdefgh

White could play 1 e6! 2c3 2 2d5! and
Black now has a problem. It isn’t possible for
his king to reach c7 in time because White’s
king is in the way. After 2..%d3 (2...%b4 3
Rc6 P4 is just the same) 3 c6 Fcd 4 ¥b7
¢S5 5§ 2xa7 Lc6 (D) he has lost a crucial
move.

e%%/
7%//
eg////
s/////
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The black king hasn’t got to c7 in time. It’s
White’s move. He will play 6 b8 and then
promote his pawn.

You should remember the theory ... but al-
ways look for tricks in the specific position on
the board.
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21 The Square

Suppose it is Black’s move in the position
below. Can he catch the pawn before it pro-
motes?

- N W O N

You might start analysing the position and
say to yourself ‘the king goes to f5 and the
pawn to b5, the king goes to e6 and the pawn
to b6, the king...’

There has to be an easier way!

N

acefgh

- N W O N e
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There is an easier way. You can use the
Square.

A large square has been drawn on the last
diagram. One side of the square goes from

b4, where the pawn currently stands, to b8,
where it wants to go. We call this the pawn’s
square.

There is a rule: If the king can get inside
the square, he will catch the pawn; if he
can't, the pawn will promote safely.

In the diagram position 1...&f5 takes the
king into the square. Now 2 b5 %e6 3 b6
£d6 4 b7 f¢7 (D) and Black has caught the
pawn.

mrm m m b
B m g

It can promote but it will be captured next
move: 5 b8%+ &xb8.

If it is White’s turn to move in the original
position he wins by 1 bS (D).

- N W A OO N ®
- N W & O O ~N ™

The square is smaller and the black king
cannot get inside it: 1...&f5 2 b6 €6 3 b7
&d6 and the white pawn promotes safely: 4
b8W+.
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Using the idea of the square will save 3h5 PeS4h6

you time and avoid the possibility of your Now if Black didn’t have the pawn on f6 he
making a mistake in calculation. would play 4...2f6 and catch the white pawn.
You still have to be careful though. However, the pawn is in the way. The black
Black may have thought he was safe in  king has to go around it and this takes him out
this position: of the square.
4...5e6 (D)

- N W b O N @
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a b ¢ d e f g h

White can create a passed pawn on the
h-file but the black king will be able to Sh7
move inside its square:

1 hd gxhd 2 gxhd &d4 (D)

g "

76 hsw (D)

a b c d e f g h W ‘w /
o w_mew
// % BT B e
% . 6 w oW W Wi
"/% %/ 5 /// //,% %% %
ﬁy 7, 4 %y > ///% 8
\ e
) I -
a b ¢ d e f g h
! Black has lost a move and White has gained
a b c d e f g h a queen!
The king is inside the square but Black You should use the idea of the square to

still has a problem. The king doesn’thavea  help you but always check that there are no
direct route to h8. tricks in the position!
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22 Counting in a Pawn Race

Onthelastpage you saw how understanding
the square made it easy to see whether a
pawn could promote.
Counting is another little trick that can
sometimes make life easier for yourself.
Look at the position below and see if you
can work out the plans for both sides.

abcdefgh

White wants to advance his king, grab the
black h-pawn and then promote his own g-
pawn.

Black wants to capture the white a-pawn
with his king and then promote his own a-
pawn.

Neither side’s plan interferes with the
other’s. They can both carry out their plans
independently.

So it will be a race! Who will win? Who
will promote first?

Once again you can try analysing this,
moving pieces around in your mind, but it is
easier to count!

White’s plan needs three king moves, to
g5, h6 and capturing on h7. Then he needs
four pawn moves, to g5, g6, g7 and finally
g8. Three and four: a total of seven moves.

Black’s plan requires four king moves, to
a3 (or b3), a4 (or b4), capturing on a5 and
then a further move to get off the a-file and
out of the way of his own pawn. Then he
needs five pawn moves, to a5, a4, a3, a2 and
al. Four and five: a total of nine moves.

Therefore White will win the race by two
moves.

Even if it is Black’s turn to move, White
will win the race to promote the pawn. Let’s
see:

1..%b3 2 g5 ¥b4 3 Ph6 Fxas 4
&xh7 Tb4 5 g5 a5 6 g6 ad 7 g7 a3 8 g8W
(D)

a b ¢c d e f g h
o| 7.7 T W
7%7 /%V //47 /%’/@7
5%7 %7 %7 /%% °
4 1 . I
o 0 ., 0
1% s % 1

a b ¢ d e f

White has won the race in plenty of time
to prevent Black from promoting his own
pawn.

This was quite straightforward. The count-
ing was easy since neither side had a choice
of moves and White’s winning margin was
large.

Things can be more complicated!

Look at the position at the start of the next
page and once again try to work out the
plans for each side.
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a b d e f g h
8 /@ 7, %//,% 8
7%7 » ////} 7
69//4%/%7 %7 6
5 5
4%7 ‘//%/ ”, »

A, ///% AL

3 7, ///;,7 %, ///4% 3

2 /; /%,// ’, e

1 __
a b ¢c d e f g h

Black will advance on the b-file. It will
take him three moves to promote his pawn:
..b3, ..b2 and ...bl1W. Of course after
1...b3 White can capture and Black will re-
capture but these moves, one for each side,
cancel each other out.

White has a choice of three plans:

a) He can use his king to capture the
pawn on h7 and then promote his g-pawn.
This will involve two king moves and three
pawn moves: a total of five moves.

b) He can advance his pawn to g6, re-
capture with the king after 1..hxg6 and
then promote his h-pawn. This involves one
move with the g-pawn and four with the
h-pawn: a total of five moves. (We don’t
count the king’s move because it was a re-
capture and cancelled out Black’s 1...hxg6.)

c) He can play h5 and then promote the
g-pawn. This involves one move with the
h-pawn and three with the g-pawn: a total
of four moves. (Again we don’t count an
exchange of pawns on g6.)

So White’s best plan will take four moves
and Black’s plan only three.

But whose turn is it to move?

Suppose it is Black’s turn. He has a two-
move advantage. One because his plan is
quicker and one from moving first:

1..b3 2 cxb3 cxb3 3 hS b2 4 g6 hxgé S
hxg6 b1¥ 6 g7 (D)

a b ¢ d e f

It is Black’s move. He will play 6...&b3
and prevent the g-pawn from promoting. Then
he will approach the white pawn with his king
and win it.

If it is White’s turn to move in the original
position Black has only the one-move advan-
tage from his quicker plan:

1hS5 b3 2cxb3 cxb3 3g6 hxg6 4 hxg6 b2 5
g7 b1¥ and we have exactly the same posi-
tion as in the diagram above with the impor-
tant difference that it is White’s turn to move
and he will play 6 g8W.

Count carefully! Don’t count a capture and
recapture and make sure you know whose
turn it is to move at the end of the calculation!
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23 The Sting in the Tail

You have just seen how to count in a pawn
race and you have seen that it is important to
lsow whose turn it is to move at the end of
the race. Now you have to go a step further
and see if there is a sting in the tail.

- N W S~ NN ®
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If you count in this position you will see
that both sides need three moves to promote
their pawns. It doesn’t seem to matter whose
turn it is to move because when one side
promotes, the other will do the same imme-
diately. Both sides will have king and queen
and the game will be drawn. Right?

Wrong!

The moves 1 h6 b3 2 h7 b2 3 h8W b1W
(D) take us to a position where both sides
have promoted.

Itis very easy in a game to work your way
through a piece of calculation like this, come
to a logical stopping point like this and end
the thinking there with no more than a gen-
eral judgement of the final position.

It would be very easy to look at the starting
position above and concentrate our thoughts
on the promotion of the pawns. We would
reach the position in the diagram below and

might well think ‘Both sides have got a

queen and the position is equal’. This might

well seem a logical point to stop thinking.
But we would be wrong!

a b ¢c d e f g
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White can play 4 Wh7+ (D), the sting in
the tail, and skewer king and queen.

a b ¢ d e f
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After Black’s king escapes from check
his queen is lost. Similarly, if it were Black’s
move in the top diagram he also has a win-
ning skewer, 4..Wh1+.

At the end of any piece of analysis, you
need to judge the position, but you also need

- N W A OO N ®
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to ask the important question “What will Then both sides will promote: 3 h6 ¢34 h7
happen next?” c2 5 h8¥ c1¥ (D).

Furthermore, when you play over an ob-
vious series of moves in your mind it is
also easy to miss a better alternative along
the way.
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Now we can see the difference. The black
queen is on cl and not bl. 6 Wh7+ is no
longer a winning skewer — after 6...22d4, Black
keeps his queen and draws.

abcdefgh

Here if Black plays 1...b4 2 cxb4 and re-
captures with the obvious 2...cxb4 he will  Try for Yourself 15
reach the position in the previous example
and lose to the 6 Wh7+ skewer.

But the obvious isn’t always the best!
After 1...b4 2 cxb4 Black can play 2...c4!

(D).

- N W OO N @
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It is Black’s turn to move. How should the
game finish? You will need to count, to con-
sider the square, to look for stings and think
about the obvious!

(The solution is on page 60.)

- N W A~ OO N @
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24 King and Queen vs King and Pawn

Often a pawn race will end with one side
promoting before the other, leaving a posi-
tion like this, which we saw earlier on page
51.
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Winning here is straightforward for Black.
He puts his queen on b3 and if necessary
later on g8 and he patiently brings his king
across the board and wins the white pawn.

But suppose the white king is on f8.
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Now 1...Wb3? is no good because with
the king’s help White can safely promote his
pawn.

g h

@

\
&

N
AN

-

Z

1

D N @

N\
\\

\\§
§

o

§ .
@
\\\
\\\\

- N W P~ O N @

\\
\
\\§

You begin the winning method by driving
the white king onto the g8-square, where it
will block its own pawn. This is just one of
several ways of doing so:

1. W15+ 2 be8 We6+ 3 L8 Wr6+ 4 Lg8
(D)

~a b ¢ d
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First step accomplished. The white king
blocks its own pawn and this gives you the
opportunity to move your king.

4..%b6 (D)

abc

\
\

a
]

_ //, /
5&h7
The white king pops its head out and is
promptly pushed back in front of the pawn.
5..9r7 6 ¥h8 Wh5+ 7 g8
This provides time for another king move:
7...¢6 (D)
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Winning is a slow process  but it is
sure and you just have to be patient.

8 18 WIS+ 9 Le8 W6+ 10 L8 W6+
11 g8

Once again the white king is in front of
its pawn, giving you the chance of another

king move.
11..2d7 (D)
a b ¢ d e g h
[H W L
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Black is gradually closing in.
12%h7 W 1713 $h8 Wh5+14 &g8(D)
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No!! Even in the simplest of positions
things can go wrong and in the diagram
above Black has managed to stalemate his
opponent!

Apart from the fact that you should always
be alert, the alarm bells should ring the mo-
ment you notice that White is gradually being
squashed out of space.

The winning move for Black is 14...%e6,
when White has to play 15 ®£8 and is mated
by 15..Wf7# (D).

Try for Yourself 16
Set up the original position again and practise
playing the position for yourself.

Then, before you turn over and read the
next page, set up the position in the following
diagram and see if you can still win for Black.

abcde

O N W Db e N ®
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Try for Yourself 17

Now in the diagram above, move the pawn
from h7 and put it on f7. Can Black win now?
Does it matter which file the pawn stands on?
You’ll find out on the next page.
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25 The h- and f-Pawn Exceptions

If the pawn stands on the h-file (or a-file)
and it is supported by its king on the seventh
or the eighth rank, the game will be drawn
unless the enemy king is close enough to set
up a checlamating position.

You will see the problem immediately if
we continue with the winning method from
the last page: 1...Wg6+ 2 &h8 (D).

a b ¢ d e f g
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Remember that Black only has time to
move his king across the board when the
white king is in front of the pawn, prevent-
ing the pawn’s advance.

In our position the white king is blocking
the pawn so you would expect the black king
to begin his travels with 2...&b6 (D).
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But if he does, it is stalemate! The white
king has hit the edge of the board and cannot
move.

Black can go on checking for ever but he
will never have time to move his king. White
only has to be careful that he doesn’t fall
asleep and get himself mated. 2...Wf6+ 3
Pg8 YWds+ 4 g7 We7+ 5 £h87?? (he should
play 5 &g8, when he is quite safe) 5...&/f8#
(D).

White has lost foolishly! As long as he
keeps his king on the squares g7 and g8 and
only goes to h8 when he is forced to do so,
he has nothing to worry about.
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There is a similar problem when the
pawn is on the f-file (or c-file).

[ B B B
e mAE
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L
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Black naturally begins with 1...Wg6+
and White, instead of replying with the ob-
vious 2 &f8 which allows 2...&b6, plays 2
&h8! and if 2...Wxf7 (D) we have this po-
sition:

s\’ 7 7 s

B = =

Stalemate! The white king has no move
so the game is drawn.

The rules for king and queen against
king and pawn are quite simple.

You will always stop the pawn from pro-
moting unless it is on the seventh rank and
supported by its own king.

When the pawn is on the seventh and
when it is supported properly, you will only
win if the pawn is on the b-, d-, e-, or g-file.
You will have to be satisfied with a draw if

the pawn is on the a-, c-, f-, or h- file unless
your king is already close enough for you to
have mating ideas:

a b ¢ d e
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Here the black pawn will be allowed to
promote: 1 Wal+ &d2 2 Wb2 &d1 3 &f3!
and now 3...c1¥ allows 4 We2# (D).
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There are similar mating possibilities when
an h- or a-pawn is on the seventh but only
when the enemy king is close to the scene of
action. Remember the general rule that rook’s
and bishop’s pawn positions are drawn but re-
member also that as with all rules there will
be exceptions!
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26 The Breakthrough

A breakthrough is a simple device by which
one pawn is sacrificed to allow another to
break through and promote. It often arises in
king and pawn endings. The following dia-

gram provides an example.
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In this position White continues 1 f6! (D)
threatening 2 fxg7 followed by promotion.
Yes, the pawn is en prise, but that’s the

whole point.
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When Black takes the pawn with 1...gxf6
(D) he reaches the position in the next dia-

gram.

h
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The white h-pawn has broken through the
line of black defending pawns and he can
run on and promote.

If you look back to the lower diagram in
the previous column, you will see that Black
had little choice. He can’t ignore the f6-pawn
and if instead of 1...gxf6 he plays 1...g6 or
1...g5 the white h-pawn is still free to pro-
mote.

The position in the next diagram occurred
in a game in London in 1914,

a b ¢c d e f g h
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Try for Yourself Solutions

13)

a) 1..f6? allows the white king a clear
run: 2 2d5 (or 2 c5) 2..e7 3 Bch, etc.

b) 1..%f7? also allows the king through
by 2 &d5 or 2 ¥c5, but not by 2 ¥e5?, when
2..%e7 hands Black the opposition and
White is foiled.

c) 1..%e7? allows 2 Pc5. White could
also play 2 &e5, when he has the opposi-
tion, but not 2 &d5?, which allows Black to
block him with 2...&d7.

d) After 1..d7? White must play 2 $d5!
since both 2 ®e5? de7 and 2 &c5? Lc7
leave Black with the opposition.

e) 1..d6! is correct, when Black has the
opposition and White cannot make progress.

14)

1 c2 ¥e7 2 $b3 £d6 and now in order
to win White must take his king on a journey
around the pawn: 3 &a4! (note that 3 c4?
would not win because Black can play
3..%c6 and gain the opposition himself)
3..c6 4 LasS &b7 (or 4..Lc7 S5 Lab!) §
&b5. White has his king in front of his pawn
and has gained the opposition.

15)
White already has a passed pawn and
Black will gain one with 1...a4. Black’s king

cannot get within White’s square. White’s
king could go to d4 to get into Black’s
square but he can’t cross c3 so he can’t
catch the pawn. Counting tells us that White
needs four moves to promote his pawn, and
Black three. As it is now White to move it
looks as though both pawns can queen at the
same time.

If we continue with the obvious moves
that is just what happens: 2 bxa4 bxa4 3 f5
a3 46 a2 57 alW 6 f8W. Is there a sting in
the tail? No, Black cannot win White’s
queen. But that of course is playing the ob-
vious moves and after 2 bxa4 Black has the
better option 2...b4 because 3fSb34f6 b2 5
£7 b1¥+ is check! By promoting on bl in-
stead of al there is a sting in the tail. White
does not have time to promote his pawn — he
has to move his king and Black will play
6..&b4.

Notice that it makes no difference if
White plays 3 a5 and tries to promote his a-
pawn. Black will still queen with check and
then play 6...¥al.

18)
The classic breakthrough position!
White plays 1 g6!. Black must capture
and it doesn’t matter which way. A white
pawn breaks through after both 1...fxg6 2
h6! gxh6 3 f6 and after 1...hxg6 2 £6! gxf6 3
h6.
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The opening is a most important stage of the game because it is in the opening that you will
begin to place your forces for the battle that lies ahead and it is in the opening that you will
begin to make your plans. Good opening play can set you on theroad to victory whereas bad
opening play can quickly lead to disaster.

There are many different openings for White and defences for Black, and they range from
very sound to extremely risky. What you choose to play will be according to your style and
your temperament.

Look at the bookstall at any chess congress and you will find countless books written on
every one of these countless openings. You will find countless (well, upwards of ten thou-
sand) moves in each book. What should you learn? What should you know?

You should learn the basic principles of opening play as they are explained on the next
few pages here and then learn the basic ideas behind the openings and defences you intend
to play. Don’t spend too much ime memorizing moves and variations. If you understand the
principles you will be able to work out many of the basic moves for yourself.
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An amazing move! The point is that the
black queen will be cut off from the defence

of 6.
Black could have avoided mate if he had

played 13...%xe4 14 HExh6 Dxc3 15 Lxc3
Zf8 but White’s massive attack is still win-
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14 Wxf6+ gxf6 15 S.xf6# (D)

L£xg6 hxg6 15 Qg5 offers no real defensive

ning after 16 &g5. Likewise 13...Wxg6 14
chances for Black.

8 2gl .Q.b4+ 9\c3 %3 10 Bg3 Whe 11

¥b3 (D)
White is threatening to win a piece. He

threatens both 12 Wxb4 and 12 £xg8.
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Paris in 1879 was the scene of this glori-
ous massacre. Schnitzler (White) was the
winner and Alexandre (Black) his unfortu-
nate victim.

To understand why Black lost, we need
to look back at the final position of the
game shown in the above diagram.

Black has a queen, arook and a pawn for
a bishop — certainly a big material advan-
tage!

But what can Black’s pieces do? And
what have they actually done during the
game?

Very little!

Four of Black’s five pieces never moved
in the whole game. Two of them cannot
MOoVe even now.

All of White’s pieces took part in his at-
tack except the al-rook, which was always
ready to leap into action if needed.

Let’s look again at the position after
White’s twelfth move.
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White’s pieces are developed. They are at
battle stations, ready for action. They all have
many squares to which they can move.

Of Black’s pieces, only his queen is devel-
oped. All of his other pieces are stuck on their
home squares. They aren’t ready to attack and
they aren’t even in a position to defend.

Black lost because his undeveloped pieces
could not help him when White threw his
whole developed army into the attack.

Your first job in a game of chess is to de-
velop your pieces.

You need to bring each piece out and put it
on a square where it will be safe and where it
will be well placed when you need it to attack
or to defend.

Development will become a race. If you
win the race, your pieces will be first into ac-
tion and you will be ready to meet anything
your opponent may throw at you!
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28 The Importance of Time

You are on your marks.

‘Set!’.

The starter raises his pistol and fires.

You situp in the blocks.

You yawn.

You stretch.

You slowly stagger to your feet.

Will you win this race?

Of course not!

In a race you can’t afford to waste time.

Development is a race.

A chess race.

You cannot afford to losetime in that race
or your opponent will have his pieces devel-
oped before you are ready.

There are five simple rules of develop-
ment.

Four don’ts and one do.

Alexandre ignored three of the don’ts in
his game on the previous page.
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Alexandre has just played 5...&g5? and
he intends to play 6... Wxg2. Definitely abad
idea!

Why?

The first don’t: Don’t go out of your way
to pinch pawns in the opening. You will only
waste time.

The second don’t: Don’t move the same
piece more than once unless you have to do
so. You will only waste time.

The third don’t: Don’t begin to attack un-
til you have most of your pieces developed.
You will only be beaten back and waste time.

Schnitzler countered Black’s bad plan
with the do.

The do: Develop aggressively if you can.
If you can develop a piece with a threat you
may gain time.

We can see how this all works if we play
on a few moves.

5...Wg5 begins to attack before the other
pieces are developed and the queen will be
going out of her way, wasting time pinching
the g2-pawn.

6 &3 is aggressive development: it brings
a piece into play and gains time by attacking
the queen.

6...Wxg2 begins the ‘attack’, it pinches a
pawnand it moves the queen a second time.

After 7 £xf7+ &d8, 8 Hgl is another
piece of aggressive development, putting the
rook on a good file and gaining time by at-
tacking the queen.

After 8..2b4+ 9 &3, 9..Wh3 (D) is
forced but this third move with the queen
means Black has lost even more time.

The result is the position in the next dia-
gram. Compare this with the diagram on the
left and you will see that White has simply
gained the two good developing moves &3
and Bgl whilst the black queen is no better
on h3 than she was on g5.
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Finally, the fourth don’t. Don’t make
pawn moves unless they help your devel-
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Secondly, on e4 the pawn supports the
bishop. It attacks dS and prevents Black from
playing ...d5, which would otherwise drive
the bishop away.

Black’s ...a5 was a poor pawn move. It
does not help his development since he loses
rook for bishop if he plays ...Xa6 and it won’t
help support any other piece.

Don’t attack before you have developed
your pieces.

Don’t go out of your way to pinch pawns in
the opening.

Don’t move pieces more than once in the
opening unless you are forced to do so.

opment. Pawn moves are not developing
moves. They are only useful if they help

you to develop a piece or if they support a

piece when it is developed.
In the position below White began by

Try for Yourself 19

Don’t make unnecessary pawn moves.
Do try to develop aggressively.

moving his pawn to e4.

T N W A O N
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Four moves are suggested for Black in this
position. Which would you play?

This was a useful pawn move in two

ways.

Firstly, it opened the diagonals for his
queen and bishop and enabled him to play

the move £c4.

d) 1..g5
(The answer is on page 74.)
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29 Pieces and the Centre

Pieces placed in or towards the centre of the
board will be more powerful than those on
the edge.

Let’s compare the power of the knights in
the diagram below. How many squares does
each attack or control?

.
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The central knight on €4 commands eight
squares.

The a5-knight attacks half that number,
just four squares.

The al-knight can move to only two
squares.

This difference in strength is most marked
with the knight, but it affects all the other
pieces to some extent, with the exception of
the rook.

Because it is powerfully placed in the cen-
tre, the e4-knight can move rapidly in any
direction. It can reach any edge of the board
in just two moves.

Both the al - and aS-knights will take twice
as long, four moves, to srundle over to the
opposite side of the board.

The next position shows why this is im-
portant.
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In the centre, the powerful white knight
hits in all directions.

If it is his move, White has the simple
plan of &c5, Dxa6, Dc7 and DxbS5, win-
ning easily.

Theblack king and knight are far too slow
to come to the rescue of the pawns. However,
if the black knight were centrally placed, for
example on d5, it would just drop back to c7
when White played &c5 and Black would
be safe.

Let’s put some more pieces on the board.
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All three of White’s pieces are either in
the centre or attack the centre. This allows
them to have a great choice of moves and
gives White plenty of possible plans:

His knight can go to g5 where it sup-
ports the queen’s attack on h7 and also hits
the f7-pawn.

The knight can go to d6 to attack the
black queen and to hit f7.

The knight can go to c5 and attack the
a6-pawn.

White’s queen is already in action along
the d-file. She can invade deeper into
Black’s territory on d6 or she can switch to
f3, to attack the black knight, or to another
square along the third rank.

His rook can crash into Black’s position
on c7 and attack f7 or it can switch to d1
and support its queen.

And what can the black pieces do?

Very little!

The game Walker-Hill, Oxford 1964
ended quickly: 1 Xc7 2d8 2 £\d6 f6 3 Wb3
Wg6 4 Wxe6+ Th8 (or 4..5f8 5 We7+
g8 6 Wxd8+) 5§ Df7+ g8 6 Hxd8+ (D)

and Black resigned.
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Their beautiful central positions gave all the
power to the white pieces and they smashed
Black’s defences apart. But the centre is not
all about attacking.

Pieces centrally placed are also likely to be
good defenders.
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Even if Black’s pieces were better placed,
they would have great difficulty invading
White’s position because every one of the
squares marked with a star in the diagram is
defended by at least one of White’s three
pieces. (The squares g2, h3, h4, g4 and f4 are
protected by White’s king and pawns.)

By contrast, White’s rook was able to invade
on c7 and his knight on d6 (or c5) as Black’s
pieces had no control over those squares.

You must remember the importance of the
centre when you develop your pieces in the
opening.

You will not be able to place all of your
pieces in the middle of the board straight away.
You and your opponent will be fighting to
control the central squares, but you should de-
velop your pieces towards the centre and be
ready to occupy a central square when the op-
portunity arises.
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30 Pawns and the Centre

Pawns placed in the centre of the board give
several advantages. If White could have two
moves instead of one with his first go, he
might well play 1 e4 and 2 d4.

a) The moves 1 e4 and 2 d4 have opened
lines for White’s queen and bishops to de-
velop.

(Note that if instead of occupying the two
central squares, the pawns had just advanced
one square each, to e3 and to d3, they would
be blocking the diagonals of the bishops.)

b) The pawns attack the four squares c5,
d5, e5 and f5 and prevent Black from devel-
oping pieces on any of those squares.

¢) The pawns make it more difficult for
Black to put a pawn in the centre. White can
now play 3 £c4 or 3 £f4 without having
to worry about Black immediately playing
...d5or ...e5.

Pawns in the centre can also help to create
useful space for your pieces and cramp your

opponent. We saw this with this pawn-struc-
ture on the last page:

a b ¢c d e f g h
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White controls more space because his e-
pawn is two squares further up the board
than Black’s e-pawn.

On e5, the pawn provided wonderful cover
for the e4-square, which White used as a
base for his knight. It cramped Black, pre-
venting him from putting a piece on d6 or f6.
It prevented Black from advancing his own
e-pawn. (How Black would have loved to
have been able to play ...e5 and ... We6, open-
ing up his position and getting more room
for his pieces.)

White used the great area of space in the
centre to manoeuvre his pieces into attack-
ing positions.

At the beginning of the game you should
aim to put at least one pawn on a square
where it attacks the centre — and you should
aim to keep it there!
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31 Castling and the Centre

Castling serves two purposes.

First you are looking after your king.
When you advance your e-pawn or your d-
pawn you may be opening lines for your
bishops but you are also opening lines for
your opponent’s pieces to get at your king.
The longer your king is stuck in the centre
the more likely he is to be attacked.

When you castle, you put your king into
a safer position behind a protective shield
of pawns.
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Second, you are developing your rooks.

Rooks need open files.

Open files appear where pawns are ex-
changed.

In the opening, pawns are most likely to
be exchanged in the centre.

Castling brings a rook towards the cen-

//

Rooks can work very well as a pair, either
side by side or doubled on the same file. Cas-
tling gets the king out of the way and brings
the rooks together.

In most games you will castle on the king-
side. Usually the kingside pieces are devel-
oped first and usually the king will be safer on
the kingside.

However, you can also castle queenside:

W7 Kk 7
3%////
AARAT T

! %E%%

a

This seems to save a move because the
rook is developed straight onto the d-file.
When you castle kingside your rook ends up
on f1 and will probably have to move again.

But the move gained will be lost if you
have to play &bl later on. Your king will be
tucked away safer on bl and he may also be
needed to defend the a2-pawn.

In general you should try to castle early.
Put your king into safety.
Bring your rooks to the centre.



70 64 THINGS YoU NEED TO KNOW IN CHESS

32 Gambits

A gambit is an opening in which one player
gives up material in the hope of gaining an
advantage in position.

We saw the moves 1 e4 e52 d4 exd4 3 c3
dxc3 4 £c4 cxb2 5 £xb2 (D) in the game
Schnitzler vs Alexandre.

- N W OO N @

The moves 1 e4 e5 2 d4 exd4 3 c3 are
known as the Danish Gambit.

White’s advantages are obvious.

White has a lead in development.

White has open files and diagonals, plenty
of space for his pieces to use.

White has a solid pawn in the centre.

White has got rid of Black’s central pawn.

Black’s advantage is also obvious: he has
two extra pawns!

Over a hundred years ago it was consid-
ered almost a matter of honour to accept a
gambit and to try to hang on to the material.
The world’s greatest players used gambit
openings and created some wonderful attack-
ing games. This King’s Gambit was played
between McDonnell and Tyssen in London
in 1834:

ledeS2fd exfd 33 g54 cd gd45
Hc3 g3 6 0-0 fxg2? 7 Bxf4 (D)
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A typically wild gambit position.

White has an advantage in space and de-
velopment. Black has a knight and a pawn.

Black now blundered horribly. Trying to
prevent 8 £xf7+, he played 7...£62?, allow-
ing 8 Wh5+ €7 9 Wi7+ £d6 10 e5+ ¥xeS
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The Golden Age of the Gambits passed
as players developed better defensive tech-
niques. In the next game, a King’s Bishop’s
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Gambit, Paul Morphy demonstrated one
method as Black against Budzinsky in Paris
in 1859:

lede5214 ext4 3 Rcd d5 (D)

- N W PP N @
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Having ‘won’ a pawn, Morphy promptly
gives it back in order to open lines for his
queen and bishop and make sure that he
doesn’t fall behind in development.

4 £xd5 Df6 5 Hc3 2bd 6 d3? HxdS 7
exd5 0-0 8 Wf3 He8+ 9 De2 Lxc3+ 10
bxc3 Whd+ 11 g3? £g4 (D)

(2]

x\a

N
\b\\\\n )
N\

LSl

N\

\
N
_;\ S§

\
N\

NRE

N
NN

N N
R\

- N W s OO N ®

- N W &~ oM ~N [o )
Q \
\\ '

White resigned since the knight on €2 is
lost. At no stage in the game was Morphy be-
hind in development.

Nowadays the classical gambit openings are
far less common in grandmaster play. Most
gambits are played by White and the modern
grandmaster prefers more reliable methods of
using the advantage of having the first move.
The Queen’s Gambit, 1 d4 d5 2 ¢4, is one of
White’s most popular options, but this is not
a true gambit. If 2...dxe4 White can, if he
wishes, make sure of regaining the pawn by 3
e3(D),intending a quick £ xc4. Any attempts
by Black to cling onto the c4-pawn are then
very dubious.
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Although modem grandmasters are will-
ing to take risks and sacrifice material, they
generally prefer to obtain more subtle posi-
tional compensation than the temporary lead
in development granted by the old-fashioned
swashbuckling gambit openings.

Should you play speculative gambit open-
ings? A good question. Turn to the next page
before you decide!
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33 Choosing Your Openings
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Different openings lead to different sorts of
game. What sort of game do you like?
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Here we see a line of the English Open-

ing. Both sides have their knights and bish-
ops in action but there are no open lines for
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cide when and how to advance pawns and

the rooks. The two players will have to de-
open up the position.

A position from a Scotch Game. Both sides

have good development and there is plenty
of space for all the pieces. The rooks can

easily come into play onto the d- and e-files
for White, and the e- and b-files for Black.
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A completely blocked centre froma Czech
his pawns on the queenside, starting with
...b5. White is preparing to attack on the

kingside.

White has a lead in development and much  Benoni. Black is getting ready to advance
more space, but in compensation Black has

an extra pawn. His position is cramped but

This position is from the Evans Gambit.
solid.
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Which of the four games would you pre-
fer to play, and would you rather be Black
or White?

You are not Garry Kasparov. You do not
have Kasparov’s arms and legs, you do not
have his face and you do not have his brain.
You are not him.

You are you!

You are an individual. Your brain, your
physical strength and your emotions are
unique to you. There is nobody else in this
world quite like you.

Maybe one day, like Vladimir Kramnik,
you will beat Garry Kasparov. Maybe one
day you will be better than him. Maybe
one day you will be the world’s number
one!

Wow! But why not?

However, if you are to achieve fame it
will be because you will have recognized
your strengths and you will have played to
them.

Study the play of the great players both
modern and old. Listen to your teachers or
advisers. Watch your clubmates. But re-
member, you are you! What is good for
others will not necessarily be right for you.

Many school, cluband tournament play-
ers use all the wrong reasons for choosing
the openings they play. Perhaps they copy
Kasparov or another favourite player.

Perhaps they dream of playing a beauti-
ful sacrificial game and play the Danish
Gambit like Schnitzler.

Perhaps they follow fashion and play
what is popular in master chess at the time.

One international master confided to me
that as a junior he played the Philidor De-
fence simply because he liked the sound of
the name.

Don’t play openings for the wrong reasons
— play them for the right reasons!

Understand that different openings lead to
different sorts of game. That is obvious from
the four positions opposite.

You have to decide which sort of game best
suits you — and that’s all down to you, your
nature and your emotions.

Are you happy taking risks?

Are you happy to defend and to look for the
chance to counter-attack or do you always
feel the need to be doing something aggres-
sive yourself?

Can you calculate calmly in the middle of
complicated combinations?

Are you impatient?

Do you enjoy slow manoeuvring or are you
easily bored if nothing exciting is happening?

It is not easy analysing yourself and work-
ing out your own chess style but it is easy
deciding which openings will suit you ... es-
pecially if you have a chess computer against
which you can match your ideas.

To find out whether an opening will suit
you, begin by setting up a position after ten
moves or so, rather as we have done opposite.

Now begin analysing.

Do ideas come easily to you? Can you find
lots of plans to choose from? Does the posi-
tion seeminteresting? Are you excited by what
seems likely to happen? Can you see things the
opponent might do? Do his plans worry you?

Now play just three or four moves against
the computer.

Did things work out as you expected? Did
you feel happy and confident? Have you ended
up in a position you like?

Repeat this process from the same position
and from other positions in the same opening.
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You will soon learn whether you have a feel
for the opening.

Next, try the opening out in a real game.
Don’t worry too much about the result. It is
more important how the game went, how
you felt playing it. If you lost, you can al-
ways find out the reason why, and correct
the mistake next time.

Remember: an opening is a bit like a set
of clothes. If they feel right, they are right!
If you feel comfortable in a game then the
opening was a good one for you.

Finally, remember that it is more impor-
tant to learn the ideas and plans associated
with an opening than to learn by heart lots of
moves and variations.

Try for Yourself Solution

19)
a) 1..Wa3, attacking the c3-pawn, is a
poor idea because it wastes time moving the

queen again. White may defend the pawn
with the aggressive developing move 2 Wc2,
hitting the f5-pawn, or he may just ignore
the threat and play 2 0-0, tempting Black to
waste more time with 2...Wxc3, a third queen
move.

b) 1...f4 is also a bad idea because Black
is beginning an attack before he is fully de-
veloped. The game might continue 2 0-0
fxe3 3 fxe3 Wxe3+ 4 &hl 0-0 5 Wc2 with
Hael to follow. White has a massive lead
in development and consequently a massive
attack.

c) 1...0-0is best. It is a sound developing
move putting the king into safety and bring-
ing the rook into play.

d) 1...g5 is a ‘nothing’ pawn move. It
supports the idea of a black attack with ...f4
but it does not help Black’s development in
any way. White might simply play 2 0-0 and
extend his lead in development or open the
attacking line for his queen to h5 with 2

Des.
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Your pieces are your strength, your main fighting force. How strong they are and how much
of a fighting force they make will depend upon where you place them on the board. Each of
your pieces has its own particular way of moving and each will require its own particular

The Power of the Pieces

The Value of the Pieces

Open Lines

The Back Rank and the Pawn-Shield
Rooks and the Seventh Rank

Bishop or Knight?

The Bad Bishop

The Two Bishops

Outposts

Underpromotion

Try for Yourself Solutions

conditions so that it can be most effective.

You should always be on the lookout for good squares for your pieces and for moves that
will make them stronger. But you should never forget that throughout the game the position
changes. A piece which is powerful one moment may become useless when a pawn is moved
or exchanged, or another piece becomes dominant. You should spend time, particularly when
it is your opponent’s turn to move, to study the position in detail, to look at each of your
pieces and to see how it might be made more useful. Similarly, you should look to weaken

the power of the enemy pieces.

76
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92
93
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34 The Value of the Pieces

The pieces in a chess game have two values.
The first is what we will call their value in
the bank.

A =1
N=3
£ =3 (or3%)
=5
W = 9 (or 912)

Adding up the value of the pieces will al-
ways give you some idea of who may be
winning a game, especially as you reach the
endgame. But this figure is only their bank
value.

Pieces have a second value, their practi-
cal value.

A tank is a useful weapon of war. It’s fast,
it’s manoeuvrable and its turret can rotate
through a full 360 degrees to hurl a massive
shell hundreds of yards in any direction. In
the middle of a large open battlefield the
tank is mighty powerful!

But what about in the thick of a forest? Or
in the narrow side-street of a town with the
road blocked ahead, walls either side and no
room to swivel the turret?

The tank has its bank value, what it cost,
what it’s worth, and it also has its practical
value, what use it is, what it can actually do
at any given time.

The practical value of your chess pieces
will depend upon where they stand on the
board and upon the power of other pieces
around them.

The bank value of the pieces suggests that
this position from a game in a Russian junior
tournament is equal.

- N W A OO N O

The position isn’t equal because the prac-
tical value of the pieces is enormously to
White’s advantage.

White’s knight is powerfully placed. It
has a marvellous central position firing in all
directions and in particular hitting the c6-
pawn.

In comparison, Black’s bishop is a miser-
able creature. It is blocked by its own
pawns, it has only three possible moves
(each only one square long!) and it is tied to
defending the wretched c6-pawn.

White’s rook is immensely powerful on
the open d-file, threatening to invade on d6,
d7 or, given the chance, d8.

The black rook seems to have plenty of
space but what can he do and where can he
go? What use is he?

Even the white king is more powerful than
Black’s! He threatens to march straight into
Black’s camp.

The game finished spectacularly:

12d7 £2a82 &gs

White has several ways of winning. Obvi-
ously 2 Hxa7 is also good.
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2..2g83%h6 Hc8

White was threatening 4 Hg7+, when
4..%h8 5 Hf7# and 4..Lf8 5 DAT# are
both mate.

4 Hg7+ 2f8 5 Hd7+ Le8 6 26+ (D)
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The bank value of the pieces remains
equal ... but what about the practical value?

The practical value of Black’s pieces is
even less than it was six moves ago. His
bishop has been shunted into a comer and
his rook kicked sideways to a useless file.
On the other hand, the practical value of
White’s army has increased. White’s pieces
have taken up more forward and aggres-
sive positions and they are working well
together. Notice how the rook and knight
combine to deliver mate after 6...%d8 7
Rd7#.

6... 18 7 ¥xh7 Hd8 8 &xg6 2d2

At last the black rook has some practi-
cal value. It has found something to do -
it’s attacking the g2-pawn — but it’s all too
late.

9 Rf7# (D)

The problem you have to tackle in a game
is balancing the bank and practical values of
the pieces. In the Danish Gambit, after 1 e4 e5
2 d4 exd4 3 c3 dxc3 4 £.c4 cxb2 5 Lxb2 the
bank value of Black’s pieces is two points
greater but the immediate practical value of
White’s pieces is much higher. In simple terms
this means that White has to achieve some-
thing with his better-placed pieces or Black’s
points in the bank will win in the long run.

It is important that you keep the bank value
of the pieces in your mind. This table may
help you when exchanging, but remember that
even the bank values are only approximate.
Note in particular that in the middlegame two
minor pieces are almost always better than
rook + pawn.

N=2=AAA
B=2AA=DAA
2N=
W=R8A=280
EX-WA
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35 Open Lines

Your pieces are stronger when they stand on
open lines.

- N W A~ 00 O N ®
- N W A0 0O N
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White has a lead in development but the
lines of his queen, his rooks and his bishop
are blocked either by his own d-pawn or
Black’s e6-pawn.

Lines become open when pawns are ex-
changed, so...

1d5! (D)
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Black has several possible moves.
a) 1...20c52 Wb5+ Wd7 3 dxe6! Wxb5 4
exf7# (D).
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Open lines lead to mate! White’s rooks
power down the centre. His bishop supports
at long range while the pawn actually deliv-

€rs mate.

b) 1..£e7 2 dxe6 fxe6 3 Lxe6 &5 4
Wb5+ (D) and Black loses his queen.

After the exchange of pawns White’s

pieces have exploded into action.

c) 1..2d6 2 dxe6 fxe6 3 Xxe6+ f8 4
Wds (threatening 5 Exd6 and 6 Wf7#)
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4..9f6 5 Exf6+ Wxf6 6 Wxa8+ Le7 7 3 Rad+ e7

Hel+ &d7 8 £ad+ (D). 3...Wd7 costs Black his queen.
abcde f gh 4 Xxe5+ 2d6 5 Xeel (D)
8@% % . ;71 a b c de f g h
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e m mw owm // :
N 1% oy | el
lam m man: o mwm @ )
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a b cde T gh 1 N 1

a b ¢c d e f g h

All the white pieces have lovely open
lines and mate is inevitable: 8...c6 9 Wxc6+ Black’s king is fatally exposed to White’s
&d8 10 Wd7#. active pieces. Mate is inevitable again; e.g.:

5..Wg5 6 Wb5 and WcoH.

d) 1..e5(D).
— Try for Yourself 20
8
7 c d e h
6 8 f% n %7 i
; 7%1%//%4;7
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3 3
1 ‘Nim.m]
nE W ST
This leaves the white pawn on d5 block- ! / 4 !
ing the d-file and the bishop on b3 but it a b cde f gmnh
still doesn’t do Black any good! If it is White’s move, should he play 1 d5 or
2 DxeS DxeS 1 dxe5? And suppose it is Black’s move. What

If 2...82¢7, the reply 3 &c6 is murder- should he do?
ous. (The answer is on page 93.)
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36 The Back Rank and the Pawn-Shield

- N W e OO N
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Ossip Bernstein surveyed this position in
his game with José Raiil Capablanca in Mos-
cow in 1914 and decided that the nasty black
pawn on c3 just had to go.

Bemstein forked rook and pawn with 1
&bS and after 1...EcS he removed the of-
fending foot-soldier with 2 &xc3. He had
considered the exchanges 2...2xc3 3 Exc3
Hxc3 4 Exc3 (D).

8
1
6
4
3
2
1

o
a b ¢c d e f g h
Here he expected 4... @bl + 5 Wfl. He had

cleverly foreseen that Capablanca would have
to play 5...Wxa2 since the obvious 5..Edl

would lose to 6 Hc8+ (D) and mate on the
eighth rank (or back rank).

8
7
6
5
4
3
2
1

Sadly for Bernstein, he was thinking about
the wrong back rank! Capablanca stunned

him with 4...%b2!! (D).
a b ¢c d e f g h

8 7, % %// 8
A 0 ) ARAl
s\ 770 7 T
s . ]
4 % B
3%%M§2 1B
2&% 2

7 1

/Q%&%
7

cdef

a b

g h

Yes, theblack queen is en prise but Bern-
stein’s queen is needed to defend his own
back rank. 5 Wxb2 Edl# is mate. As 5 Rc2
Wbl+ 6 Wl Wxc2, 5 Wel Wxc3 6 Wxc3
Bd1+ and 5 Wc2 Wal+ 6 Wcl Rd1+ are all
equally horrible, Bernstein decided to re-
sign.



THE POWER OF THE PIECES 81

At some time or other every beginner
lives through two nighamares. One is when
a knight descends seemingly unnoticed out
of a clear blue sky to deliver a murderous
fork. The other is when a rook skips the
length of the board to embarrass the king
on his back rank.

The waming bells should be ringing at
the back of your mind as long as the pawns
are unmoved in front of the king.

The ringing should become louder if the
pieces leave the back rank unprotected.

5 » )
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However, do not be tempted to waste a
move early in the game by advancing one
of the pawns in the king’s defensive shield
just to avoid the possibility of a back-rank
mate twenty moves later!

The king will usually be safer from a
frontal attack with his pawns in line as they
are in the diagram above. Only play a move
such as g3 or h3 if it becomes really neces-
sary.

Try for Yourself 21

Even if a pawn has advanced in front of
the king you still have to think about the
back rank, especially if an enemy bishop is
aimed at the king’s escape square. Mikhail

Tal forgot this in his game with Fridrik Olafs-
son in Moscow 1971.

- N WO N
- N WA OO N @

Tal has just played ...Hc8 to attack the white
queen. Can you see why this move was a mis-
take?

Try for Yourself 22

- N W OO N®

This position arose in the Teschner vs Por-
tisch game at Monaco in 1969. The position
of the pieces on the c- and e-files is interesting
but it was the d-file that attracted Teschner’s
attention.

Can White safely play 1 Xxd5?

(The solutions are on page 93.)



82 64 THINGS YOU NEED TO KNOW IN CHESS

37 Rooks and the Seventh Rank

A rook on the seventh rank can be very well But what’s the hurry? The queenisn’t go-
placed, sniping at enemy pawns and setting  ing anywhere!
up tactical possibilities. First of all Antunac collected a bishop
abcde f gh with 3 Exb7+ &e8 and then the black queen
: ,,,, with 4 He7+ %18 5 Bxh7+ (D).
) ! %% %//'l ° a b c d e f g h
AL W Al s
s\ 7, & |} X :
5 787 &KW "% / % 7
AT W s W WAy %6
1% 7 v ) 3 1y
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NEAY U W s ., AT
72 0 _ _ Y W Y
ZlY: 0 . %2 : //// 70”7, %4
”, ? /// A‘/ 4
1 n - s 1 3 ] A 2 //% .13
i A = 7= Z % % Y
a bcdef.gonh 2| & ' it
At Dresden in 1969 Hiibner was a piece 1 = o 1

up. No doubt he was confident until Antunac a becde f gh

played 1 Hc7!, leaving his queen en prise. Now 5...%e8 6 XxhS5 left him two pawns
The game continued 1..¥xh5 2 Ze7+ $f8 ahead. An amusing collection dance for the
(D). rook!

a b ¢ d e f g h
7 Two rooks on the seventh rank can be a
8 E %% %7 g %x 8 most powerful weapon.
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The rook and bishop form a perfect part- 2 //y /y /% %2
nership and White can play 3 Hxh7+ and ! / !
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regain his queen, although this would still fgh

leave him a piece down. Two ideas are always present:
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a) The possibility of threatening mate
on the back rank with, for example, 1
Zfb7.

b) The possibility of forcing a draw by
perpetual check; e.g., 1 Eg7+ &8 2 Hgf 7+
e8 3 Hfe7+, etc.
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This is the game Gheorghiu vs Diez del
Corral at Las Palmas in 1973. Play contin-
ued:

1..¥xf1+ 2 xf1 Bxf2+ (D)
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3 el Hxg2 4 #f1 Hgc2 leads to the same
thing.

3..2xg2+4 &hl Hgc2

White now resigned since he will have to
give up his queen to avoid mate.

Try for Yourself 23

In the upper diagram in the right-hand col-

umn of page 82, Antunac has just played 5

Hxh7+. Instead he could have been greedy!
He could have picked up another pawn with

5 Hxa7+ before winning the white queen.

Why didn’t he?

Try for Yourself 24

Antunac probably borrowed his idea from
Carlos Torre, who as White pulled off a spec-
tacular victory over former world champion

Emanuel Lasker from this position at Mos-
cow in 1925,

a b ¢c d e f g h
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Think about the Antunac vs Hiibner game
and see if you can find the move that led to a
similar rook dance.

(The solutions are on pages 93-4.)
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38 Bishop or Knight?

Which is worth more, a bishop or a knight?

We gave them each a bank value of about
three points. But can they really be equal
when their moves are so different?

The bishop can strike from long range but
only on squares of one colour.

The knight can use both light and dark
squares but is slow and rather clumsy mov-
ing around the board.

They can’t be exactly equal.

So which is better?

It all depends upon the position!

Bishops need an open board. To develop
their full firepower they need diagonals that
are not blocked by pawns.

- N W A N @
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In this position the white bishops are mag-
nificent pieces. The d3-bishop has two fine
lines of attack towards a6 and h7. The a3-
bishop cuts right into Black’s position and
by hitting f8 is preventing him from cas-
tling.

The game Alekhine vs Vasi€ from a simul-
taneous display at Banja Luka in 1931 ended
dramatically: 1 Wxe6+! fxe6 2 2.g6# (D).
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Open diagonals = powerful bishops!

In the next position, from the game Sok-
olsky vs Saigin at Kiev in 1950, Black’s
bishops are biting on concrete.
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The d7-bishop is blocked by its own pawns
on e6 and b5. The g7-bishop is blocked by
its own pawn on h6 and the white e5-pawn.
In comparison, the white bishops have great
freedom and it is no surprise that Sokolsky
won at once with 1 Ef3!, opening the diago-
nal of the c1-bishop and threatening 2 Wh7#.
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Black resigned after 1...xf3 2 2xh6
(D).

- N W 00N ®
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As the diagram shows, bishops can be,
like White’s, very good. However, they can
also be like Black’s — very bad!

Bishops can be pieces of extremes. In
contrast, knights are more average but the
next position shows them at their best.

- N W PO N®

The chains of pawns rather block the po-
sition and White’s pieces lack good open

lines. However, the black knights are power-
ful pieces. They work well as a pair and can
manoeuvre easily in this closed position. They
have good solid bases from which to operate
and it is difficult for White to dislodge them.
The game Pegoraro vs Scheipel, Strasbourg
1971 concluded 1...HXg3! 2 Zcl Dxf3 3 £b3
Qg2 4 Bxg2 Hxg2 5 Df1 De3! (D), when the
black cavalry hits everything in sight: g2, h2,
the white queen, c2, the white lanight...!

a N oW A e N ™
- N W S D N D

Not surprisingly it was good knight as far
as White was concemed. Faced with so many
threats, he resigned!

You must always consider the nature of
the position before exchanging bishops and
knights.

Remember also that the bishop is always
likely to be a little stronger on an open board.
Therefore at the beginning of the game it is
usually better not to exchange a bishop for a
knight unless you have a good reason for do-
ing so.
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39 The Bad Bishop
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Averbakh has just played 1 g5 in his game
with Lilienthal at Moscow in 1949. Can you
think why?

Although the bank value of the pieces is
equal, the practical value of White’s knight
is much greater than Black’s bishop. This
becomes most obvious after 1...f5 (D).

a b c¢c d e f g h

AN
@
\
\\\:

\
- N @ O N ®

% & 7 Y
A

\‘Q\

NI
Q

I i
%*\\\ S

D
N

- N W & O O N ®

f g

Black’s poor bishop is buried alive. All
the pawns stand on light squares and four of
them are blocked, fixed to the spot. The white
knight has a perfect dark-squared base from
which it cannot be dislodged. It can also

manoeuvre easily to e5, which might be an
even better base.

2f3 283 HeS

Black’s c6- and g6-pawns don’t just get in
the way of their bishop, they make great tar-
gets for the white knight and the poor bishop
has to defend them.

White now needs to improve the position
of his king; d4 will be a good square, and e5
an even better one. From e5 the white king
will be threatening to invade on d6 and 6 to
mop up Black’s miserable pawns. (Notice
how all White’s target squares, d4, e5, f6
and d6, are dark squares.)

3..2d8 4 &3 Le7 5 Le3 Le6 6 Ldd
Fe7 7 Dd3 e6 (D)
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Black is totally tied up. His king must
stay on €6 to prevent the white king from in-
vading on e5. His bishop must shuffle around
d7, e8 and f7 in order to be able to defend
the c6- and g6-pawns.

Now White can break through on the
queenside:

8 b4 a5 9 Dd3 2d7 10 a4 Le8 11 b4
axb4 12 Hxb4 (D)
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And Black loses because when his king
runs across to stop White’s a-pawn, he
leaves his front door open and the white
king marches in through e5.

In the game Lilienthal didn’t play 1...5.
He went for the other option: 1...fxgS 2
fxgS &c8 3 &f4 (D) and here Black re-
signed.
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After 3...a5 4 Pe5 £g4 5 Pf6 LhS the
g6-pawn is dreadfully weak. White can now
switch the point of attack to the c6-pawn and
overload the poor bishop with defensive work:
6 $e7 £g4 7 a3 £d1 (Black has got some
play for his bishop but it is too little and too
late) 8 De6+ ¥b7 9 £d6 Lxb3 10 Hd8+
Pc8 11 Dxc6 a4 12 De7+ (D).

abcdefgh
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White’s c5-pawn will soon queen.

So, have you worked it out? Why did Aver-
bakh play 1 g5?

To fix the black pawn on g6!

Pawns restrict the power of bishops. With
his pawns blockaded on c6, d5 and g6 Lilien-
thal’s bishop was a very bad bishop indeed!

Don’t allow too many of your pawns to be-
come fixed on the same coloured squares as a
bishop ... and if you do, look for a way to ex-
change the bishop.

Bishops need open diagonals!
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40 The Two Bishops

You may hear strong players talking about
having the two bishops. While analysing and
judging a position, one of them might say
White has the advantage of the two bishops.

What does this mean? What is the advan-
tage of having two bishops?

Well, two bishops working together on an
open board control squares of both colours.
They are a powerful weapon and are likely
to be worth more than a bishop and knight.

Let’s see! Sit back and enjoy two games,
taking note of how Black’s bishops combine
to control a whole block of squares.

The first game was played between Chep-
ukaitis and Yakovliev in 1981 in Leningrad.
The moves 1 d4 26 2 2g5 Ded 3 Lhd4 d5
4 £3 g5 5 fxed gxhd 6 exdS WxdS 7 Hc3
WaS8f3h39g3 £h610 Wd3 Hc6 11 ed
f£.g4 12 9)d2? (D) bring us to the following
position:

- N W d OO O N @
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Black has the advantage of two bishops for
a bishop and a lnight on an open board. They
scythe across it with deadly effect. Black
finished off brilliantly: 12...20b4 13 Wb5+
c6!! (D).

White was expecting 13...&xb5 14 £xb5+
c6 15 Kad, when he defends the important
square c2 and has made some space for his
king.

N
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White now resigned as 14 Wxa5 Hxc2+
15 &2 L.e3# (D) is mate.

—Amm:s%mum
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The beauty of the two bishops! They com-
bine to trap the white king in a neat block of
squares.

At Breslau in 1862 the game Rosanes vs
Anderssen began 1 e4 e52f4dS 3 exdS e44
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£b5+ ¢6 5 dxc6 Dxc6 6 De3 76 7 We2
£c5! 8 Hxed 0-0 (D).
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White has two pawns — and a problem!
Black’s pieces are very active, in particular
the c6-knight which threatens to leap into
d4. White decides the knight must go.

9 2xc6

Giving up the bishop has major reper-
cussions, but 9 2xc5? He8 costs White his
queen.

9...bxc6 10 d3 He8 11 £d2 Dxed 12
dxed L15! 13 e5S Wh6 (D)
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When he played 9 £xc6, White handed his
opponent the two bishops. Now just look at
them! Both occupy splendid diagonals and
threaten to win material.

14 0-0-0 £.d4!

Now the bishops work as a pair! They
smash into the white king’s pawn-shield.

15 c3 Hab8! 16 b3 Hed8

In fact, 16...Wa5! is a clearer win.

17 &3

After 17 cxd4 Wxd4 White cannot prevent
mate on al. 17 g4 is necessary, but also grim
for White.

17..&xb3!!

The queenis sacrificed to strip the king bare
and make way for the rooks and bishops.

18 axb3 Xxb3 19 £el L3+ (D)
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Black’s rooks control the files and his bish-
ops the diagonals. The squares around White’s
king are all covered. Game over! White re-
signed because 20 Wxe3 Kbl# is mate.
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On an open board, two bishops are a pow-
erful weapon because they can control both
light and dark squares.
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41 Outposts

An outpost is a square in your opponent’s
half of the board that you can control but
which can never be attacked by an enemy
pawn. Outposts can make marvellous bases
for pieces!

Can you spot White’s outpost square in
this position and work out how he makes
best use of it?
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First, d5 is White’s outpost. A piece on d5
will be defended by White’s e4-pawn and no
black pawn will be able to attack it.

Second, whilst outposts can be used by all
pieces, they make particularly good bases
forknights. The reason is that the knight is a
short-range piece which does nothave much
influence on the enemy position when it is
on the third rank. It’s a different story when
the knight occupies an advanced square.

In our position the c3-knight would like
to seize the d5 outpost square but he has
competition from the black bishop and
knight. So, with 1 £xf6 £xf6 2 £d5 White
exchanges the pieces and d5 falls into his
hands; e.g., 2...Kac8 3 £xb7 Wxb7 4 Hd5
(D).
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The k.mght is dominant and it cannot be
removed from its splendid out post.

John Emms gave a good demonstration of
the power of an outpost knight in his game
with Keogh in Dublin in 1991:
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The black knight is dug in beautifully on
e4. Emms played 1...8b2! and because his
lnight is attacking d2 and c3 he has the nasty
threat of 2...8b3+ mating.

White has no defence. He played 2 Hebl
f.xcd+ 3 Pxcd, when Black’s quickest way
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toforce mate is to continue 3...b5+! 4 axb5
Wc2+.

“Once you get a knight firmly posted on
€6, you may go to sleep. Your game will
play itself.” So said the tactical genius
Adolf Anderssen more than a century ago.

John Emms followed step one in his
game against Miroslav Houska at London
in 1999. His knight is beautifully posted on
€6...

- N W A O N @

...but he certainly wasn’t asleep when he
found 1 Zg7! g8 2 Hd4! (D). Don’t for-
get that pieces can move backwards!

Black has to give up his queen or be mated
on h7.

It is a good idea throughout the game to
try to imagine the board without any of the
pieces, and with just the kings and pawns in
place. There are many advantages to this idea.

You will be able to assess what is likely to
happen if pieces are exchanged and an end-
game arises.

You will see which bishops will have open
diagonals and which will turn out to be bad
bishops.

And you will also highlight any outpost
squares and be able to consider how you might
use them. Remember this when you tackle
this next problem:

Try for Yourself 25
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With his next move Black took control of
one outpost and created another one for him-
self. What move did he play?

When Black had created his second out-
post, what did he need to do before occupying
it with a knight?

(The answer is on page 94.)
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42 Underpromotion

When you get a pawn to the far end of the
board you exchange it for a queen.

Right? Wrong!

When you get a pawn to the far end of the
board you can choose to promote it to any
other piece of the same colour (except a
king!).

Sometimes in the endgame if you take a
queen you might leave your opponent stale-
mated. In this case you might consider pro-
moting to a rook.

Sometimes you might choose a minor
piece, as we shall see.

I came across two old gentlemen playing
chess on a park bench in Leningrad in 1974.
Through a fog of cigarette smoke Black
played ...g3 to reach this position:
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Without a great deal of thought White
bashed out 1 He7+ Hxe7 2 Wxe7+ xe7.
Oops, I thought, he’s blundered. White then
surveyed his audience — that was me, a dog
and a couple of hooded crows — he smiled,
said something in my direction which meant
as much to the dog and its feathered friends
as it did to me, and pushed 3 ¢8 (D).

64 THINGS YOU NEED TO KNOW IN CHESS
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With the pawn still on c8, Black picked
up his king, twirled it in his fingers for a few
moments, shrugged his shoulders and began
resetting the pieces for another game. Black
had resigned!

I gave a puzzled look and wandered off
shaking my head. A few yards down the path
the light dawned.

As I turned smiling, White looked up,
picked up a knight and gave me a polite bow
of his head.

My problem was that I had only consid-
ered 3 c8YW, when 3..Wxf2+ 4 h1 Wil#is
mate.

I had missed 3 ¢8&+!. Promoting to a
knight is check! And on c8 the knight forks
Black’s king and queen.

Normally you will want to take a queen
when you promote a pawn. But remember
you are not forced to. Remember you have a
choice. Remember stalemate. Remember a
knight promotion might be check, and that
could make a decisive difference.

Remember underpromotion!
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Try for Yourself Solutions

20)

1 d5? is a dreadful move. It completely
blocks the line of the g2-bishop and leaves
White’s queen and rook with nothing to do
on the d-file.

White has a lead in development and
his pieces are screaming out for lines and
space, so 1 dxe5, opening the d-file, is a
must! If then 1..dxe5?, 2 Wd8+ wins a
rook.

For Black, the last thing he wants is to
open lines since it is White’s pieces which
are already in position to use them. Black
must avoid pawn exchanges. He should
play 1...e4 blunting the g2-bishop and keep-
ing lines closed.

21)

Tal probably gave no thought to his back
rank as his king has an escape square on
h7. However, this square will be attacked
by the d3-bishop when the e4-rook moves.
Olafsson played 1 Wxc8+ and Tal had to
resign since 1...2xc8 2 He8# is mate.

22)

Teschner realized that he had everything
under control on the c- and e-files. He knew
his queen would be safe after 1 Xxd5 be-
cause 1..Hxc2? is answered by 2 Hxe8+
and mate on the back rank. He also knew
he had a back-rank mate after 1...Hxe2? 2
Wxc8#.

Happy with his calculations, Teschner
continued 1 Hxd5?. Obligingly, Portisch
played 1...Wa6 and after 2 Hg3 the game
was later drawn.

What both players missed was the as-
tonishing 1...8f2!! (D), placing the queen

en prise but threatening mate on f1 and the
rook on e2.
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White can resign since both 2 Exf2 Hel+

and 2 g3 Wel+ have the same result: mate
on the back rank!

23)

After 5§ Exa7+ Pe8 6 He7+ 18 7 Exh7+
Black does not continue the same dance with
7..%e8. Instead he uses the fact that the a7-
pawn has disappeared to play 7..Hxa3! 8
HxhS Hxa2, when suddenly Black comes out
a piece up.

24)

Torre sacrificed his queen with 1 2f6!
WxhS. As his own queen was en prise on b5,
Black’s only alternative is 1...g5 when he is
mated on g7 after 2 Wxh6. Now Torre played
2 Exg7+ %h8 and then not 3 Rg5+, regaining
the queen immediately, but the collection
dance of 3 Exf7+ g8 4 Rg7+ ©h8 5 Hxb7+
&g8 6 Hg7+ Lh8. Having picked up two
pawns and a bishop, Torre went back for the
queen with 7 Xg5+ h7 8 ExhS (D). Well
done if you worked that out.

But wait a minute! Have you looked fur-
ther?
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As we have seen before, it is very easy to
stop analysing at a point like this without
looking to see what happens next. The com-
bination appears to be over. White has won
his material, and that is surely the end of the
matter!

No, you cannot stop before you have
looked to see if there is a sting in the tail.
And there is!

Black can spoil the fun with 8...&g6 fork-
ing rook and bishop. However, after 9 Xh3
#xf6 10 Exh6+ gS 11 Xh3 there is no fur-
ther sting and Lasker resigned, as Black is
simply three pawns down.

25)

Black has an outpost square on d4 and a
knight on c6 ready to pounce. First he needs
to deal with the defender, White’s f3-knight.
Black played 1...2xf3 2 gxf3 (White would
drop a pawn with 2 Wxc6 £xe4) 2..0d4.
Black has not only secured d4, but has also
created a second outpost square on f4. Play
continued 3 £d1 HhS 4d3 (D).
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Black has moved his knight to h5 but he
needs to get rid of White’s c1-bishop before
the knight can occupy f4.

4...2g5' 5 ©h1 £f4. The bishop uses the
outpost! Black is threatening 6...Wh4 and
mate on h2 so White is forced to exchange: 6

Sxf4 {4 (D).

- N W L OO0 O N @
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Mighty knights on mighty outposts!

(If you look back to the game Pegoraro
vs Scheipel in ‘38 you will see how the
knights finished White off.)
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“Pawns,” said André-Francois Danican Philidor, the greatest player of the 18th century, “are
the soul of chess.”

It is the pawns that give the game its shape. It is the pawns that can help you to control
space. It is the pawns that can open or close lines to give power to the pieces.

Throughout the game you should be constantly thinking about the position of your pawns
and how they affect your pieces. You should remember the one peculiarity of the pawn: un-
like the pieces, it cannot move backwards. A pawn move is a move for ever.
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43 Pawn-Structure
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If you look at the lovely open files and diag-
onals White has for his three pieces in the

diagram below you won’t be surprised that

he can win immedlately:
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e
In this diagram, the pawn-structure is the
same as before so White still has his open
files and diagonals but now he doesn’t have

any pieces to make use of them!
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The game might continue 1 b3 &g7 2

3 #f6 3 2d4 Lf5 (D).

Thesacrifice 1 EXxg6+! rips apart Black’s

defences and forces mate in a few moves:
1..fxg6 (or 1...2h7 2 g7+ h8 3 Wh7#) 2

Wxg6+ Wg7 3 Wxg7# (D).
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Black has the simple plan of 4..%f4,
5..8xf3, 6..%xf2, 7...&g3 and 8...f5, after

which his f-pawn promotes. He can even
play ... &xh4 if he is feeling greedy!

White has a problem!

The open lines enabled White’s attack to

hammer home!

However, open lines are only useful if we
have pieces that can make use of them.

How can White prevent Black’s plan?
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Only by 4 ®e3, after which Black plays
4...e5 and 5...&xd5 and wins easily.

Let’s put the minor pieces back on:
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White still has a problem!

His d5-pawn is en prise and he has no
way of defending it! The pawn is doomed.
Black is winning easily again.

OK! Let’s get rid of the minor pieces
and the two kings:
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This represents the pawn-structure of the
position.

Pawn-structure is important because it is
the position of the pawns which gives the
pieces their power.

At some stage White played dS, opening
the diagonal for his bishop on c3.

At some stage White played g2xf3, open-
ing the g-file for his rook.

With pieces on the board, White used the
open diagonal and the open file for his mating
attack.

Pawn-structure is important because pawns
are valuable. Lose your pawns and you will
lose the endgame! With the pieces off the
board, White would lose the endgame because
he cannot defend his pawns. He would also
lose with bishop against knight because he
can’t defend the d5-pawn.

Every time you push a pawn forward one
square, you open and block diagonals for your
queen and bishops. Every time you make a
pawn capture, you open and block files for
your queen and rooks.

Pawns can’t move backwards, so if you
later regret a pawn move there is nothing you
can do about it.

In your games you must keep an eye on
your pawn-structure all the time. Make sure
your pawns are helping your pieces but don’t
let them become scattered targets of attack.
Look after your pawns.
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44 Weak Pawns

In the pawn-structure position from ‘43
Black has two nice, neat and tidy groups, or
islands, of pawns:

AN W b e N ®
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The white king cannot advance further
than the barrier of squares marked with a
star so he cannot get into Black’s position to
attack and capture any of the pawns.

However, for the black king there is no
barrier!

- N W A OO N ®
- N @O & 00 O N @

The white pawns are scattered into four
pawn-islands and the black king is free to
wander wherever he likes. He can sail off to

the first island and gobble up the h4-pawn
before moving to the second island and de-
vouring the f2- and f3-pawns. The b2- and
b4- island might come next and finally he
can sunbathe in splendour on d5, king of the
board!

White’s pawns are all weak because they
are isolated. An isolated pawn is one that
does not have a pawn of the same colour on
the files either side of it. The dS-pawn is iso-
lated because there is no white pawn on ei-
ther the c- or the e-file. The b2- and b4-
pawns are doubled isolated pawns. They are
doubled because there are two of them on
the same file and isolated because there are
no white pawns on the a- or c-files.

I made up the pawn-structure in ‘43 to
show both the power of the open lines and
the weakness of the pawns. The next posi-
tion shows the problem of an isolated pawn
in a real game.

Black’s c-pawn is isolated and attacked.
Because it is isolated it cannot be defended
by another pawn; it has to be defended by
pieces. In the diagram, two white rooks are
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attacking the c5-pawn so two black rooks
are having to defend.

It might seem a fair balance, but it isn’t!
Whilst Black’s rooks are tied to defending
the pawn, White’s rooks are free to move
wherever they wish, whenever they wish.
White’s rooks do not have to attack the
pawn but Black’s rooks must defend. White
can play Rh4, Rad4 or Ehl to attack an-
other black pawn or he can use the rooks
for other plans.

Black cannot do anything with his rooks.
If he plays 1...He7 to attack the eS-pawn,
White simply plays 2 Exc5. He captures
the pawn, he defends his own e5-pawn and
he attacks Black’s other weak isolated pawn
on a5.

In the next position Black doesn’t have
an isolated pawn but he does have some-
thing that can be just as big a problem — a
backward pawn.
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The black pawn on d6 is a backward
pawn. It can never be defended by another

pawn because there is no black pawn on the c-
file and because it is behind (or backward of)
the e5-pawn.

Of course if the d6-pawn could safely move
to d5 there would be no problem but as we
saw in the position in ‘41’, White will if at
all possible make jolly sure it remains back-
ward.

N\
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The d5-square is attacked by the e4-pawn
and occupied by the white knight. Black has
no hope of playing ...d5. One good plan now
for White would be to put his rooks on d3 and
d1. He would be piling up pressure on the d6-
pawn and be threatening to move his knight.
Black would have to begin defending the d6-
pawn. Then with the black pieces tied down
to defence, White might switch to an attack
on the black king with g3 and Wg4.

Of course you will have more to worry
about in a game than just the position of your
pawns, but remember that if you lose a pawn
you may well lose the endgame — and weak
pawns are easily lost!
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Holes in the king’s pawn-shield can be
really disastrous and you should always try
f

to avoid weakening your shield.
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Holes are weak squares — potential outposts
for pieces to occupy. They are squares in the
pawn-structure that can never be defended

45 Holes
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In this position, from the game Spielmann
vs Honlinger played at Vienna in 1929, White
Honlinger should have blocked the white
bishop’s diagonal with 17..f5. Instead he
weakened his pawn-shield with 17...g6? and
The holes on f6 and h6é are gaping. If
now 18...gxh5, 19 &h6# is mate. Honlinger

has just played Wh5, threatening mate on h7.
was stunned by 18 ®g4!! (D).
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noticed that if he tried 18..26 19 We5
g7, he would be hammered on f6 by 20
Ah5+!! (D).

a b ¢c d e f g h
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To avoid immediate disaster, Honlinger
had to try 18...2£6 but this also has a dis-
advantage. He really wants to keep the
bishop since it works on dark squares and
is the best piece with which to defend his
miserable holes. Spielmann did not think

twice about chopping the bishop off: 19
Qxf6+ 2xf6 20 Whé (D).
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With holes on f6 and h6 and no dark-
squared bishop, Black has real problems!

A few moves later, the following position
was reached:

- N W A& OO N ®
- N W & O N

Black is desperately trying to defend his
dark squares f6 and g7. If he had time now to
play ...f6 he might survive.

However, he doesn’t!

It was Spielmann’s move and he finished
off spectacularly with 26 Wxh7+!! &xh7 27
Hh5+ $g8 28 Xh8#, making full use of the
power of the two bishops.

You should generally try to avoid making
holes in your pawn-structure. You should be
particularly careful not to weaken the pawn-
shield in front of your king.

Similarly, you should be on the lookout for
holes in your opponent’s position and for ways
of occupying them. You should try to tempt
your opponent to advance a pawn in front of
his king.

You should remember that the bishop is
generally the best piece to defend weak
squares in a pawn-shield. Exchange your op-
ponent’s defensive bishop if you are attack-
ing, and hang on to your own bishop if it is
you that has the holes.
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46 Doubled Pawns

- N W P OO N
- N W A0 0 N e

In this pawn-structure diagram, Black has
doubled pawns on c6 and c7.

Do you think that is a problem?

Are the pawns weak?

No, not really.

Black’s queenside pawn-island forms a
nice solid block. The c7-pawn is a bit of a
problem because it is stuck on the c7-square
blocked by the c6-pawn. If it is attacked, it
can’t escape by advancing; it will have to be
defended by a piece. However, whilst the
c7-pawn may be a bit of a problem, Black
has compensation in the form of the d-file,
which he can use for his rook or queen.

Remember: if you have doubled pawns
then you must also have an open file!

Black’s f5- and f6-pawns are also dou-
bled.

Do you think that is a problem?

Are the pawns weak?

Yes, definitely!

The problem is that the pawns are both
doubled and isolated. Yes, Black does have
the g-file as a line of attack for a rook but the
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pawns themselves cause the same problems
as all isolated pawns — only now there are
two of them!

They will be targets for attack and they
will become more and more of a headache
as the endgame approaches.

The main problem with doubled pawns
usually comes in the endgame.
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In this position White’s doubled pawns
on the c-file are not weak. OK, the c2-pawn
is blocked like Black’s c7-pawn in the last
position but with only kings on the board it
isn’t really a target for attack.

White’s problem is that he cannot advance
his four pawns on the queenside against
Black’s three and make a passed pawn.

Black, on the other hand, is able to use his
pawn-majority of three against two to make
a passed pawn on the kingside.

From the diagram, play might continue:

1..%e6 2 Le3 LeS3bd f4+ 4 SfI S5 5
cd hS 6 b5 g4+ 7 hxgd+ hxgd+ 8 L2 ed
(D)
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We can see White’s problems clearly!

He has been advancing his pawns on the
queenside but unless Black makes the mis-
take of playing ...cxb5, White has no hope
of making a passed pawn. If White tries 9
a5 intending 10 a6!, Black just blocks him
with 9...a6 and there is no way through.
White’s extra c2-pawn is useless so he is
effectively playing with three pawns against
three on that side of the board.

On the other side Black has advanced
his three pawns against White’s two and al-
though the white king has been trying des-
perately to slow them down, Black is ready
to play 8..f3 and create his own passed
pawn.

Black’s position is now actually so strong
that he can afford to abandon his f4- and
g4-pawns and use his king to gobble up all
of White’s pawns on the queenside.

Doubled pawns will cost White the game.
His c2-pawn is of no help so he is really
playing just a pawn down.
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In the position below we have moved the
white pawn from c3 to g3 —and what a differ-
ence it makes!
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White still has doubled pawns but now
they don’t matter at all because Black no lon-
ger has a pawn-majority on the kingside and
therefore he cannot hope to create a passed
pawn.

The game might continue as before: 1...&e6
2 Pe3 PeS butnow 3...f4+is no longer a dan-
gerous threat because of 4 gxf4+ gxfa+ 5 &f3,
when there is no passed pawn for Black.

You shouldn’t worry too much about get-
ting your pawns doubled early in the game.
Doubled pawns are not as weak as isolated
pawns and you will get an open file as com-
pensation.

You must still think about the endgame
though! Try to avoid getting your pawns dou-
bled if it is going to leave your opponent with
a pawn-majority on the other side of the board
which he can use to make a passed pawn.



47 The Isolated Queen’s Pawn

The pawn-structure position in the next dia-
gram, in which White has an isolated d-
pawn, can arise from many openings.
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The player with the isolated queen’s pawn
will often have more space and good attack-
ing chances. He will also be in danger of
slipping into a bad ending or of simply los-
ing the pawn.
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In this example Black’s d5-pawn looks
safe, defended by both queen and knight.
However, Krogius, as White against Bole-
slavsky at Riga in 1958, played a series of

simple, easy-to-understand moves and the
d5-pawn just fell like a leaf in autumn.

1 Dxc5

This draws the black bishop away from
e’.

1..2xc52 £¢g5

This pins Black’s defending knight. White
threatens 3 £xf6, when Black must reply
with 3...gxf6 since 3...Wxf6 allows 4 Wxd5.
Then Black’s bishop would be en prise so he
would not have time to play 4...Wxb2.

2..Hc8

This defends the bishop so that 3 £xf6
Wxf6 4 Wxd5 can be answered by 4...Wxb2.

3c3

This blocks the diagonal from f6 to b2
and threatens 4 £xf6 and 5 Wxd5 all over
again.

3..Hc6

This prepares to recapture on f6 with the
rook.

4Wd3

This prepares to put more pressure on the
d5-pawn with 5 Xad1.

4..h6 5 Sxf6 Exf6 6 Radl (D)

a b ¢ d e h
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The d5-pawn now drops since 6...Hd6 7
b4 £b6 8 c4! is horrible: the d5-pawn is
pinned and White threatens 9 c5. Boleslav-
sky tried 6...8b6 but lost the pawn and even-
tually the game after 7 b4 £d6 8 WxdS.

In the next position, Viktor Korchnoi’s
attack withthe white pieces had fizzled out
and Anatoly Karpov took another step to-
wards retaining his world championship ti-
tle in Merano in 1981 (this was the ninth
match-game) by laying siege to an isolated
queen’s pawn.
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Karpov already has the important d5-
square firmly under control. Now he be-
gins the process of attacking the d4-pawn.

1..2d8 2 Hd1

The pawn cannot advance so it must be
defended.

2..Hb6 3 Wel Wd7 4 Rcd3 Rd6 5 Wed
W6

The more pieces that are exchanged, the
weaker the d4-pawn will become.

6 Wf4 Hds

The strongpoint is occupied!

7 Wd2 W6

This threatens 8...2\b4, winning the d4-
pawn after the rook moves from d3.

8 £xd5 HxdS
The strongpoint is still occupied.
9 Xb3 W6 10 W3 Wa7 (D)
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Now Karpov has the simple threat of 11...e5
as the wretched d4-pawn is pinnedto his rook.

1114

This is the only way White can save his d4-
pawn but it opens up lines to his king. Mean-
while the d4-pawn remains a target.

11...b6 12 Xb4 b5

Threatening 13...a5 14 Xb3 b4 followed by
15...Bxd4.

13 a4 bxad 14 Wa3 aS 15 Hxa4 Wb5 16
Hd2 e5! 17 fxe5 ExeS (D)
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18 Wa1

The d4-pawn is still a problem. After 18
dxe5 HExd2 Black threatens both 19.. We2
and 19... Wb6+.

18...We8! 19 dxeS Xxd2 20 Exa5 (D)
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8 5,09 %} 8
W Y %/ é/‘ " ’
° /%7 //%/ %? /4 °
- ) //%/ % i/ 2 %/ 5
4 7 7, 0 7, %7 o
3 %y %/ ////Ay 33 3
2 . B 7Y
1 . _ :- !

a b ¢ d e f g h

Korchnoi has gotrid of his isolated queen’s
pawn and he’s even won a pawn into the bar-
gain. Life would be good — if he didn’t have
a king to worry about!

20...Wc6 21 Za8+ $h7 22 Wbl+ g6 23
W1 WesS+ 24 $h1 Wds+

Korchnoi resigned owing to 25 gl Zdl
winning the queen.

When your opponent has an isolated
queen’s pawn your own general plan of ac-
tion will be:

a) To control and occupy the strongpoint
square in front of the isolated pawn, block-
ading the pawn so that it cannot advance.

b) To build up pressure on the isolated
pawn and tie your opponent’s pieces down
to defending it.

c) Tolook for ways of switching to an at-
tack elsewhere when your opponent’s pieces
are tied to the pawn.

d) To exchange pieces because the pawn
will become weaker and a bigger problem
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for your opponent as the endgame draws
closer.

But it is not all doom and gloom if you
have an isolated queen’s pawn. The pawn may
be a weakness but it can also be a strength! It
gives you more space and the chance to at-
tack.

You can also try exchanging the problem
pawn. Korchnoi ignored this idea earlier in
his game when he reached this position:

- N W A OO N®

The one thing Korchnoi doesn’t want to do
is to exchange pieces, yet he played 16 Ded
Dxed 17 Yxed £2¢6 18 Hxc6 Hxc6 (D),
which ended his attacking chances.
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The one thing Korchnoi does want to
do now is to exchange his isolated pawn.
He could have tried 19 Exc6, when after
19...Dxc6? (however, 19...bxc6! is still
good for Black), 20 d5 gets rid of his prob-
lem. Instead he played 19 Hc3.

The pawn break d5 is often the key to
White’s attacking chances as well. Future
world champion Boris Spassky gave a good
demonstration when he was only twelve
against Avtonomov in Leningrad in 1949.

Itlooks as though Black has the d5-square
firmly under his control, yet Spassky still
played...

145!

Black must capture because he can’t al-
low 2 dxe6, discovering an attack on his
queen.

1..2bxds 2 L.g5

Black is caught in a net of pins: neither
knight can move and his e6-pawn is not
defending d5. Spassky threatens simply 3
&xd5 winning a piece.

2...58¢7 3 Lxf6! gxf6
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Forced as 3...£2xf6 allows 4 HxdS.
4 DxdS £xdS 5 £xdS exdS 6 Hd4! (D)

Now, rather amusingly, it is Avtonomov
who has the isolated queen’s pawn and Spas-
sky who has the strongpoint square d4 as a su-
perb base for his knight. Spassky also has the
f5-square in front of the doubled isolated f-
pawns and for this reason Black cannot castle.
After 6...0-0 7 &f5 White threatens both 8
& xe7+and 8 Wgd+ mating. The game ended
quickly: 6...f8 7 25 hS 8 Exds! Wxds 9
Wxe7+ g8 10-Wxf6 and Black resigned.

Look back to the starting position in Spas-
sky’s game and see the chances White has for
an attack. He has a queen and a rook on good
central files. He has a bishop striking across
d5 at e6. He has another bishop ready to come
to g5 to annoy the f6-knight. He has a knight
ready to leap into e5. He has another knight
ready to support the d5 pawn-break. And he
has the d4-pawn standing proudly in the mid-
dle of the board controlling €5 and c5 and
bursting to march forward to dS. Great attack-
ing possibilities!
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48 Hanging Pawns

In the diagram below, the white pawns on c4
and d4 are called hanging pawns. Hanging
pawns are a pair standing side by side, alone,
without the support of pawns on the files ei-
ther side of them.
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Are the hanging pawns in the diagram
above strong or weak? What do you think?
And how about Black’s c- and d-pawns in
the position below? Are they strong or will
they become a problem?
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We can see the strength of the hanging
pawns in the top diagram. Side by side they
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are like a spearhead. They attack the squares
b5, c5, d5 and e5, preventing Black from
putting a piece on any of them. They create
space and provide cover for White’s pieces.
They burst with energy, eager to leap for-
ward. Think about all this as we put some
pieces on the board.
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This is Suba vs Velikov from the Lucerne
Olympiad, 1982. You can see the hanging
pawns spearheading White’s position, his
pieces nicely placed behind them waiting
for the breakthrough.

What move do you think White should
play? 1 c5Sor 1 d5?

After 1 ¢5 bxc5 2 dxcS White has opened
the d-file for his queen and rook and the
diagonal from a2 for his bishop. However,
Black can challenge the queen with 2...Xfd8
and the bishop is hitting a brick wall on 6.
Worse, the exchange has left White with a
single isolated pawn, which is nicely block-
aded by Black’s knight.

The correct idea is to play 1 dS! exdS 2
cxd5 a5 3 DeS Kcd8 4 Dgd Weg7 5 d6
(D).
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Black has problems! He has to worry
about the knight invading his holes on f6
and h6, the rook invading on €7, the possi-
bility of f7 collapsing and of course
there’s the little matter of that rampant d-
pawn to frighten him! At least it was all
over quickly: 5...£.a8 6 d7 Db7 7 We3 h5
8 Dh6+ Ph7 9 Dxf7 Exf7 10 Sxf7 Wxf7
11 Wg5 and Black resigned.

Now let’s add some pieces to our second
pawn-structure position:
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Here the pawns are not hanging side by
side; one lags behind the other. They do not
proudly control the four squares in front of
them. The squares that are in front of them,
c5 and d4, are no more than holes inviting
White’s pieces to occupy them. The game
Walker vs Blackwell, Oxford 1968 continued
1 Had Wd8 2 HcS L.c8 3 Wd4 (D).
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Black has no way of dislodging the white
queen and knight and no obvious plan. He is
simply being sat upon! He can only wait pas-
sively and see how White decides to play to
win!

If you have hanging pawns, you should use
them as a spearhead of your attack and be on
the lookout for the explosive moment to ad-
vance one of them and gain more space and
attacking power for your pieces.

If your opponent has hanging pawns, you
should try to attack them head-on so that one
of them has to advance at a moment when
there is no danger and you can blockade the
pair of them.
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49 Capturing Towards the Centre

In the diagram below White has just played
1 exf5. How would you recapture? You have
four options, but which is best? Do you take
with the rook, the bishop, the knight or the
pawn?

Capturing with 1...Exf5 does not seem a
very bright idea as the rook will soon be a
target for the e2-bishop.

Capturing with 1...£ xf5 does look sensi-
ble as it develops a piece, and 1...2xf5 also
looks good as the knight may be able to
jump into d4 and this move also unclutters
Black’s position by getting the knight off €7
and out of the way of the black queen.

However, as horrified World Champion-
to-be Mikhail Botvinnik commented when
the British master Alexander captured with
a piece in such a position, “Every Russian
schoolboy knows you capture with the
pawn!”

So, you should play 1l...gxfS! (D). But
why?

Surely on f5 the pawn blocks the f8-rook
and the c8-bishop and it deprives the e7-
knight of the f5-square.

Surely capturing with the g6-pawn opens
up the g-file, at the end of which stands the
inviting target of the black king.

Surely capturing with the g6-pawn leaves
the h7-pawn isolated and weak.

Yes, all these things are true!

But do they matter? Is there something
else more important in the position?

There is!

Remember: pawns control squares!
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Black’s pawn-structure is very good here.
Capturing with 1...gxf5 has brought the black
g-pawn towards the centre.

Side by side, the two black pawns control
the four squares in front of them, preventing
White from putting a piece on the central
squares d4, e4 and f4, and also on g4. A later
...e4 might activate the g7-bishop.

Look again at the pawn-structure after 1
exf5. If Black recaptures with a piece, a
white knight will jump into e4 and sit there
for a very long time! The e5-pawn will be
blockaded. The g7-bishop will be blocked.
White will steadily prepare to play c5 and
target the squares d6 and c7.
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After 1...gxf5 Black can tuck his king
away safely in the corner with ...&h8 and
then use the g-file for his own advantage
with ..Hg8 bearing down on g2 and the
white king. Black can play ...2)g6, freeing
his queen and preparing the knight for ac-
tion on f4 or h4. Black’s position has all the
ingredients for an attack against the white
king and all the time those monster pawns
sit side by side controlling squares, con-
trolling space and bursting with energy,
straining to leap forward.

A decision you will frequently have to
make at the board is how to recapture in
positions like the one below.

- N W A~ N @
- N W A O N O

g h

You will often be tempted to retake with
the f-pawn as this opens the f-file and gives
your rook immediate pressure against f7.
Sometimes the open file is really impor-
tant, but in general the advice is:

Don’t!

1 fxg3 splits your pawns into two islands,
leaves the e3-square undefended, the e4-
pawn isolated and gives Black the beauti-
ful eS-square for his knight!
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Unless you can see an immediate clear ad-
vantage from 1 fxg3, capturing towards the
centre with 1 hxg3 will almost always be
better.
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Your kingside pawns are in one island
where they will be able to support one an-
other. Your f2-pawn controls e3 and if neces-
sary it can advance to defend the e-pawn or
attack the e5-square.

Remember: pawns control squares, and cen-
tral squares in particular are important. Cap-
ture towards the centre!
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50 Passed Pawns

A passed pawn is one that has no enemy
pawns obstructing its path to the eighth rank.

- N W AN ®
- N W A OO N @

This position is taken from the game
Csom vs Ribli at the Hungarian Champion-
ship (played in Budapest) in 1969. The
white d6-pawn is a passed pawnbecause no
black pawn would be able to capture it on its
short journey to d8.

The general rule with passed pawns is
that you should advance them as far and as
fast as you can — always provided you are
able to defend them. You can’t just charge a
passed pawn up the board and invite your
opponent to eat it for breakfast!

Here the d6-pawn is perfectly safe and it
acts like a knife at Black’s throat.

Your task in this sort of position is to de-
stroy, deflect or block the defenders that ob-
struct the path of the pawn.

In the game Csom played 1 Xe7! threat-
ening both the black queen and 2 Wxf7+
and mate.

Ribli played 1...WfS, whereupon Csom
advanced his monsterpawn by 2d7 (D) and
Ribli resigned.

64 THINGS YOU NEED TO KNOW IN CHESS

- N W A DO N D

a b ¢

If 2...Heds8, then 3 Wxa8! Hxa8 4 He8+
Hxe8 5 dxe8W+ and the little monster has
been transformed into a beautiful new queen!

Black’s only way of avoiding this would
have been 1..Exe7 2 dxe7, when he runs
into a similar problem: 2..%We8 3 Wxa8!
Wxa8 4 Xd8+ (D), etc.
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White has destroyed the black rooks and

deflected the queen.

The white queen and rooks have done all
the damage but the passed d-pawn was the
root cause of Black’s problems.
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In the position below Black creates a
passed pawn and thenblocksthe line of the
white rook trying to rush back to defend.
The game is Rokhlin vs Lohmaya from a
match in 1957 between Rostov-on-Don and
Thilisi.

a b c d e f g h

The black rook sacrifices itself in order
to block the line between the white rook
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and the passed b3-pawn. After 4 cxb4 a4! (D)
not one of White’s three pieces can catch the
b3-pawn.
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The white king and knight are both too far
away to stop the galloping b-pawn promoting.

The white rook is equally useless since 5
Hd6 b2 6 Xdl a3 7 Xbl a2 doesn’t help
White at all.

White can’t even bail out into an ending
with rook and knight against queen since the
black a-pawn is now passed and dangerous: §
a6 b2 and if 6 Exad, then 6...b1 W+ 7 22
W2+ forks king and rook.

Pawns may only be worth one point in our
banking system but they have the potential to
be promoted to a queen (nine points).

Passed pawns are valuable.

Protect them and push them.

Tie your opponent’s pieces to blocking their
path and then look for tactical ways of deal-
ing with the defenders.
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51 The Pawn-Chain

An interlocking line of pawns is known as a
pawn-chain.

8| 8
d ¥y 7
6 7 6
s 8K 5
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White’s pawn-chain in this diagram runs
from g2 to dS. Black’s runs from c7 to f4.
Pawn-chains tend to be a barrier across the
board splitting it into two.

Usually you will attack on the side of the
pawn-chain where you have more space and
you will expect to defend where your oppo-
nent has more room for his pieces to ma-
noeuvre. So in our position White will be
likely to advance on the queenside and Black
on the kingside.

The general principle is that you should
normally try to attack the base of a pawn-
chain. White’s plan here will be to play c5
and exchange pawns on d6. He will then use
the open c-file for his queen and rooks, try
to invade on c7 and attack d6. Black will
play ...g5 and ...g4 and put his major pieces
on the g-file. If he exchanges g-pawns, he
may be able to use the h3-square for his
bishop.

Let’s add some pieces and look at a posi-
tion from a King’s Indian Defence.
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Several games have continued 1 ¢S g$ 2
Hcl Dgb6 3 cxd6 cxd6 4 Hbs Xf7 5 We2
(D) and whilst Black is massing for an at-
tack on the white king, White is looking to
break through on the queenside.
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Don’t be frightened to advance pawns
even in front of your own king. The pawn-
chain will usually be an effective safety bar-
rier. Remember that you should normally at-
tack the base of your opponent’s chain.

Now itis abouttime you did some work!
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Try for Yourself 28

Try for Yourself 26
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It is Black to play. Both players have passed
pawns but only one of them can safely pro-
mote. Who, and how? Who is winning?

Black’s d6-pawn is isolated and weak.

But it is safely defended!

Can White win?

Try for Yourself 29

Try for Yourself 27

=4

(=]

=]

-—
)]
©
o
o
-]

e B
B\ \ <
Nl LW

N/qw LR
% . 73

A\

h

9

bcdef

SR
TETm e

M
w man_ 6

@ - % %
o\

Bl<aly
A\ /m%

M || W

abcdefgh

First, you have to study and assess the

pawn-structure in this position.

Black has just played ... 2 xb3 in this po-
sition from the Dragon Variation of the Si-

cilian Defence.

Second, you have to find White’s path to

victory.

White has three possible ways to recap-

ture the knight.

(The solutions are on page 116.)

Which is best?
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Try for Yourself Solutions

26)

Always remember that whilst your oppo-
nent’s pieces may be tied to defending a
weak pawn, yours do not necessarily have to
attack it.

White wins by switching his point of at-
tack to another weakness, the a6-pawn. And
he is spoilt for choice as he has two methods
of exploiting this weakness:

a) 1 Xb4 L8 (there is nothing better) 2
Hb6 and Black cannot defend both of his
pawns.

b) 1Xa4 Ha7 2 Hda5 Eda8 and now al-
though Black has defended a6, he is helpless
against 3 b4 followed by 4 b5 as his a-pawn
is pinned.

27)

1 &xb3 is playable, but why move the
knight out of the centre? So, we should take
with a pawn. But which one? Remember the
general rule, capture towards the centre . Af-
ter 1 cxb3 White might be able to make use
of the open c-file in the middlegame but he
will have the usual endgame problem with
his doubled pawns. Black will be able to use
his extra pawn in the centre to make a passed
pawn by playing ...e6 and ...d5. No matter
how he advances them, White will never be
able to force a passed pawn with his extra
pawn on the queenside.

1 axb3 is most logical. It ‘develops’ the
rook straight onto the a-file and it brings the
a-pawn towards the centre where it will pre-
vent Black from putting a piece upon c4.
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28)

Thefirst thing to realize is that the obvious
1...Hxd8 doesn’t work. Instead of 2 cxd8W+
$xd8, White has the intermezzo 2 2f6+!!.

The second thing to realize is that after
1...Hxc7 2 fxc7 the black knight is a re-
markably good shepherd to the b-pawn. Af-
ter 2..b2 the rook is blocked off on both
lines: 3 b8 £b4 and 3 Hdl Hcl.

Always be on the lookout for ways of
shutting defending pieces out from the pro-
moting square.

The game was Krogius vs Aronin from
the 1962 Soviet Championship, played at
Erevan.

29)

Both sides have doubled isolated b-pawns,
which could become targets later but don’t
matter too much at the moment. White has a
passed, isolated d-pawn. It is rampant and
well-protected, but is it going anywhere?
Black has horribly weak dark squares around
his king and f6 is almost inviting the white
knight to invade. The problem is getting the
knight to £6 with the black bishop attacking
e4..

1 d7! deflects the bishop: 1...82xd7 and
the white knight invades after 2 HXxa8 Hxa8
3 Qed. Now the threat of 4 Df6+ is decisive.
As is often the case, the isolated d-pawn did
not actually achieve anything itself — it was
simply a distraction as it created the chance
for White to do something elsewhere on the
board.

This game was Emms vs Tukmakov from
Copenhagen 1996.
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Earlier in the book you studied the basic ideas that you must know if you are to be successful
in endgame play. You will havelearned that endgames are usually far more complicated than
they appear and that one slight slip can prove disastrous.

Now it is time to look into deeper endgame ideas. In days gone by, many players, even up
to tournament standard, gave little attention in their study of the game to endgames. As So-
viet Grandmaster Alexander Kotov once said, “If I get a difficult endgame I can wait until
the adjournment and then look up the theory in a book or work it out for myself”.

These days, matches and tournaments are scheduled to avoid adjournment sessions to pre-
vent computer involvement. You won’t get adjournment breaks! You have to know the
theory. In many endgames, even though the position might seem simple, it is not easy to
work it out at the board.

Endgames may appear dull, but dull is the player who does not learn the theory!
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52 More About the Opposition

In ‘16’ we saw that having the opposition
enables us to drive the enemy king back so
that we can advance our own king and pro-
mote a pawn.

We can use the opposition idea to drive
the opponent’s king away from the pawns
he needs to defend. Look at this example,
where it is Black to move.
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If Black is to win he must first capture the
white pawns and then advance and promote
his own.

But how can he possibly win the white
pawns?

He will need to get his king to e4 to attack
the f4-pawn.

But how?

Obviously he must advance his king to-
wards the enemy pawns.

But where to?

1...&c5 looks most sensible as it brings
the black king nearer the e4-square.

But look what happens!

White plays 2 &c3 and gains the opposi-
tion. Black plays 2..&d5 and White keeps
the opposition with 3 &d3 (D).
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The black king cannot go to e4. In fact he
cannot advance at all! It would all be differ-
ent if it were White’s move in this position.
Then Black would have the opposition.

So in the original position Black must play
1...%b5! and after 2 @¢3 c5 3 $d3 2dS
we have the same position, only now it is
White’s turn to move. White must play 4
e3to keep the blackking out of e4, but after
4..%cd 5 Le2 d4 6 Tf3 dd3 (D) Black
has gained the side opposition and White’s
king will be driven away from the f4-pawn.

- N W b OO N
LR N
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7 $f2 ded 8 2g3 Le3 (D)

a b ¢c d e f g h
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Black still has the side opposition and
White can resign, since he cannot save his
pawns.

In the next diagram White can use the
same side opposition idea to win the black
pawn — but will this be sufficient to win the
game?
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No! After 1 $f4 Pe6 2 Lgs Le7 3 f5
2d6 4 2f6 the side opposition wins the
pawn for White: 4...&c6 5 &e6. However,
Black saves himself with 5...&¢7! because
he gains the opposition after 6 &xd5 d7
(D).

- N W d 00O 0o N o

White cannot make progress; e.g., 7 ¥e5
Le7 8d5 2d79 d6 Ld8! 10 de6 Le8 draw-
ing.

It is easy to imagine that everything is sim-
ple in king and pawn endings.
It isn’t! Be careful!

Try for Yourself 30
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It is Black’s move. Can he win the white
pawn? And can he win the game?
(Solution on page 138.)

As having the opposition can be the differ-
ence between winning and drawing (or even
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winning and losing), you need to plan for it
in advance.
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If it’s Black’s move in this position he is
in big trouble because White has the distant
opposition.

Black can’t play 1...&d7 because he will
lose his h-pawn after 2 &f4.

Black can’t play 1...&f7 because he will
lose his b-pawn after 2 d4.

Nor can Black advance his king: 1...&e6
2 Ded 2f6 3 Tf4 g6 4 Pe5 Fh7 5 JfS
*h6 6 6 Lh7 7 g5 (D).

- N W 00 N @
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After 7...%g7 8 ¥xh5 ¥h7 9 g5 g7
10 215 White abandons his h-pawn, rushes
his king over to capture the black b-pawn and
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then promotes his own b-pawn: 10...&h6 11
PeS PhS 12 $dS Ixhd 13 Pc5 g5 14
PxbS £6 15 Lc6 Fe7 16 7, etc.

White is winning in the original diagram
because he has the distant opposition. The
two kings are a long way apart but they face
each other on squares of the same colour.
This means that however Black may try to
close the gap, White’s king can just step for-
ward and oppose him. We have just seen
1..%e6 2 Led but similarly 1...2d6 2 Ld4
and 1...f6 2 2f4 both give White the op-
position.

Of course if it were White to play origi-
nally then Black would have the distant op-
position and White would be unable to make
progress; e.g., 1 d4 &d6, etc.

Now that you know about the distant op-
position, what move would you play for
Black in this position?

a b c d e f g h
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Score nought out of ten and go to the bot-
tom of the class if you would have played
the obvious 1..&f7. Ugh! You should have
learned by now that nothing is simple playing
around with the opposition! White replies
with 2 &b7!! gaining the distant opposition
from the side and Black will find his king
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driven away from the f6-pawn; e.g.: 2..%e7
3 dc7 Pe6 4 Ld8 Lf7 S Ld7 A8 6 Leb
g7 7 de7 g6 8 T8 Th7 9 f7, etc.
Amazingly, the only way for Black to
save his f6-pawn is to play 1...%h6!! (D).

a b ¢c d e f g h
8 /@ b, 8
U BB B
ol 2% 7/ 1A de
7 /7 %/ /7 7
5 %y/ M 5
13 Ty L
3 v, //% _ /& //% 3
2l 7 1 / 2
1 7 % 1

a b h

[}
Q.
[
-
o

Now the two kings are on squares of the
same colour on the same rank. It is White’s
move so it is Black whohas the distant op-
position and as long as he keeps it, White
will never be able to win the f6-pawn; e.g.,
2 b7 $h7! (keeping the distant opposi-
tion) 3 fc6 g6 4 2d6 Lh6!! (D).
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Brilliant! Black must be able to answer 5
Le6 with 5...g6 and 5 fe7 with 5..Lg7.
He must keep the side opposition to save his
f6-pawn.

Nine average players out of ten would play
1...&f7 without thinking. That’s why they will
remain average players! You must give atten-
tion to detail.

Endgame positions may appear easy and
rather boring, but they are not. They sud-
denly become very interesting when you find
1...&h6!!, save the game and show the world
how clever you are!

At this point, I recommend that you go
back to the start of ‘52’ and play over all the
variations again and analyse other variations
in each position.

This may seem tedious, but the concepts
are very important and will help you make the
right decisions at the end of long games ... and
after a while it becomes fun!

Try for Yourself 31
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It’s White to move. What should he play?
(The solution is on page 138.)
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53 Triangulation

It’s White to move in the position below.
Analyse the position yourself and see if you
can work out who is winning.

The first thing to notice is that if White
plays the obvious 1 e3 he has a big prob-
lem after 1...%e5 (D).

- N W & O N @
- N W A~ OO N @

Black has the opposition. It doesn’t mat-
ter that there is a pawn between the two
kings; Black still has the opposition.

White cannot safely play 2 b4 so he must
give way with his king. It doesn’t matter
where he goes, f2, e2 or d2, Black’s king
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will simply march forward and start mop-
ping up the white pawns; e.g., 2 @e2 &f4 3
&f2 xg4 (D) winning easily.

a b ¢c d e f g h
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For White to avoid all of this and indeed
win the game himself, he has to triangulate
with his king.

White should play either 1 &f2 or 1 &d2.

Black must then reply 1...&eS (if he tries
1...&c6, White simply plays 2 @e3 and the
e4-pawn cannot be defended).

Now White will play 2 &e3 and once
again we have the position in the lower dia-
gram of the previous column with the im-
portant difference that this time it is Black to
move and White has the opposition.

The black king must give way and White
will play 3 dxed.

In order to gain the opposition, White had
to lose a move with his king. Instead of go-
ing straight from e2 to e3 the king had to
move in a triangle from e2 to d2 to e3. Trian-
gulation!

It’s White to play in the next position as
well.
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Is he winning?

Let’s look and see.
a) Let’s try 1 &c5 c7 (D).

Again it would be great if it were Black
to move. The black king would have to
back off and White would play 2 &b6 and
win the a6-pawn.

But it isn’t Black’s move!

b) So let’s try 1 &d6 Ld8 2 c7+ Lc8
(D).

Now it would be great if it were Black to
move. He would have to continue ...&b7 and
White would reply $d7 and promote his c-
pawn.

But it isn’t Black’s move.

In both diagrams White is stuck because it
is his turn to move.

White needs to lose a move so that when he
reaches either of these positions it will be
Black’s turn to play.

White needs to triangulate!

In the original position at the start of this
page, White should play 1 &d4, when Black
can try:

a) 1..&c7, when White triangulates with
2 PS5 giving us the middle diagram of the
previous column, but this time Black will lose
because it is his turn to move.

b) 1..2d8, when White continues trian-
gulating with 2 &cd L8 (or 2..2c7 3 Fc5
winning again!) 3 &d5 d8 (yes, yet again
3...c7 allows 4 c5!) 4 &d6 Lc8 5 ¢7 and
we have the bottom diagram from the previ-
ous column and again Black willlose because
he has to move.

Nommally it is better if it is your tumn to
move, but strangely there are a few situations
in which you are better off if it is not your turn
to move!

In these circumstances you will need to
look for a way to lose a move.

You may be able to do so by triangulating
with your king.
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It is White to play in this position so Black
has the opposition.

If White has to move his king, Black will
win. The black king will march in on e4 or
g4 and pick off the white pawns.

But what’s the problem?

White doesn’t have to move his king —
yet. He has pawns on the queenside that he
can move instead.

Yes, but eventually both sides will run out
of queenside pawn moves.

And what will happen then?

Then it will depend upon whose turn it is
to move. It will depend upon who has the
opposition when neither side is able to move
a pawn.

White has three possible pawn moves: 1
a4, 1 b6 or 1 a3. Let’s look atthem in turn to
see if White can save himself.

a) 1 a4 is immediately disastrous be-
cause Black replies 1...b6 (D) and already
White has no safe pawn move and has to
move his king. Then, as we noted above, the
black king will penetrate and capture White’s
pawns.
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b) 1 b6 is no better. After 1...axb6 2 a4
Black gives back the pawn by 2...bS 3 axb5
and still has the last pawn move: 3...b6 (D)
so White will have to move his king and
again he will lose.

- N W H OO O N @
- N W e OO N

c) 1a3 givesBlack achoice. He can play
1..b6, 1...a5 or 1...a6:

cl) 1..b6? 2 a4 simply takes us to the
upper diagram in this column, but now it is
Black to move — and that is the key point!
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By playing 1 a3 and 2 a4 instead of 1 a4
White lost a tempo; he lost a move, and
against 1...b6 this meant that he gained the
opposition. Now after 2...&e6 3 g4 Le7!
4 $fS Df7 neither player can make prog-
ress and the game is drawn.

c2) Now suppose Black answers 1 a3 by
1...a5 (D). Can White still lose a tempo?
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Sadly not! Following 2 a4 b6 or 2 b6 a4
it is still White to move. After 2 bxa6 bxa6
3 a4 a5, White has not managed to lose a
tempo so he will have to give way with his
king.

«Q
¥

c3) If Black answers 1 a3 with 1...a6,
White has a choice between 2 bxa6, 2 a4
and 2 b6.

White will lose with both 2 bxa6 bxa6 3
a4 a5 and 2 a4 axb5 3 axb5 b6, but 2 b6 a5
3 a4 seems to work since Black has to give
way with his king: 3...&e6 (D).

However, it is not so simple since after 4
Pgd 15+ 5 Sf3 d6 6 Le3 c6 7 Ld3
&xb6 8 23 Lc6 9 Tb3 bS 10 a3 bxad
11 &xad $b6 12 Pa3 b5 13 $b3 ad+
14 a3 2c4 Black’s king gets among the
white pawns with an easy win.
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In all these variations, neither player was
actually trying to do anything on the queen-
side. They were simply trying to arrange

things so that when they had run
moves it would be their opponen
have to move his king.

out of pawn
t who would

White was unable to save the game but you
can see how careful you have to be when han-
dling the pawns in such positions.

Try for Yourself 32
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a b ¢ d e f
It’s White’s move. He'd like to

C>
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play &d4 or

&b4. How does he deal with the problem of

the black king?
(The solution is on page 138.)
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55 The Outside Passed Pawn

abcdefgh

The material is level in this position but
White is winning because he has an outside

passed pawn.

White first attacks the black e5-pawn:

1 Pe3 2d7 2 Ted 2d6

His next step is to advance his outside

- N W A N>

passed pawn:

3a4(D)
a b c¢c d e f g

7%% 7, /// 7
6 %% p // / W
5% 2, /// 0.
44 » 4%/ »
3% //// _ %
2 2 n
1 2 2

a b ¢c d e f g h

The a4-pawn is going to deflect the black
king. Black can’t allow the pawn to advance
and promote so his king must go to the very

edge of the board to catch it:

- N W A O N ®

3...2c5 4 LxeS Thd 5 Le6 Txad 6 7
(D)

’ //c/em .
u By /%7
L E &
w%/%%
)
g o 0 B

a b ¢c d e f g h

With the black king well out of harm’s
way, White’s king is free to harvest all the
black kingside pawns: 6...g5 7 g6 ¥b4 8
Txh6 c5 9 Lxgs &dS 10 hd and Black’s
king is powerless to prevent the advance of
White’s pawns.

The same idea of the outside passed pawn
luring the enemy king away from the scene
of the action enables White to win in this po-
sition:

a b ¢ d e f g h
W % wAE |
o B Al
I3
o| 7 7 ) AS)
TR & & Mt

a b ¢ d e f g h
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Black doesn’t have a decent move! His king
has returned to the scene far too late to be of
12..e6 13 g6, 12..&f7 13 Lg5and 12..f4

13 gxf4 &f5 14 h6 are all winning easily for

any use to his kingside pawns. The variations
White.

MORE ENDGAME KNOWLEDGE

White doesn’t have an outside passed
pawn yet, but he soon will have! 1 b5 ©d6
2 a5f6 (or 2...&c7 3 LeS and Black loses
all his kingside pawns!) 3 b6 axb6 4 axb6

*c6 5b7! (D).
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The outside passed pawn gallops for-

ward. He has no hope of promoting; he is
tion. Now, 5...&xb7 6 2d5 £c7 7 Pe6 f5

8 hd Pc6 9 f6 d6 10 Lxg6 Pe5 11

simply dragging the black king out of posi-
PxhS5 &6 12 g3 (D).
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White doesn’t have an outside passed
pawn yet, but he soon will have! 1 b5 &d6
2 a5f6 (or 2...&c7 3 eS and Black loses
all his kingside pawns!) 3 b6 axb6 4 axb6
2c6 5b7! (D).

a b ¢c d e f g h
A B @ |
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a b ¢c d e f g

The outside passed pawn gallops for-
ward. He has no hope of promoting; he is
simply dragging the black king out of posi-
tion. Now, 5...2xb7 6 &d5 Lc7 7 e6 5
8 hd Lc6 9 2f6 2d6 10 2xg6 Pes 11
&xhs 2£6 12 g3 (D).

- N W A O N
- N W D OO N o
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Black doesn’t have a decent move! His king
has returned to the scene far too late to be of
any use to his kingside pawns. The variations
12..%e6 13 g6, 12..Lf7 13 2g5and 12...f4
13 gxf4 &f5 14 £h6 are all winning easily for

White.

If you were Black it wouldn’t be much good
exchanging pieces to arrive at the starting po-
sition in either of these examples and sud-

denly realize you were losing.
It would be too late!

You have to think about the pawn-structure
throughout the whole game remembering that
whilst isolated and doubled pawns may be
weaknesses an outside passed pawn can be a

[ ]
\
:\\\\

big asset.
Try for Yourself 33
d e f g h
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It is Black’s move. He can exchange bish-
ops by playing 1...£xc3. Would this be a good

idea?
(The answer is on page 138.)



Rook activity is also the key to this posi-
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tion:

The basic rule in rook and pawn endings is

simple: keep your rook active!

56 Rooks Need Activity
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White immediately activates his rook and
aims for the seventh rank with 1 Hc1! and

Black replies with 1...Ke8.

g h

e

In the following position, Black has just
played 1...Ha7 attacking the a2-pawn. 2 Hal

is the obvious reply — but is it best?
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Both players spend a move avoiding mate
on the back rank: 2 &fl1 &8 and White

forces Black onto the defensive with 3 Ec5

(D).

a
No! On al the white rook will be passively

placed defending the pawn. Much better is 2
Hcl (threatening mate on c8) 2...g6 3 Hc6

Axa3 4 Axd6 (D).

=]

[ }]
h=
o
o
[ ]

Black now has to grovel, first defending
the d-pawn and then the b-pawn: 3...Kd8 4

Ec7 Zb8 (D).

5 <o -
e E
%A/
@a/

/,//

% %sz

White’s activerook now wins the b6-pawn

and with it the game: 4..2a6 (or 4..b5 5
b6, etc.) 5 b5 Ra2+ 6 g3 Eb2 7 Exbé.
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a b c d e f g h
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a b c d e f g h

White could now play 5 Ed7 and win
the black d5-pawn but if he does so he will
allow the black rook to become active:
5..%e8 6 XxdS Hc8 7 HbS (after 7 Hc5
Hxc5 8 dxc5 $d7 9 de2 c6 10 bs bS5
11 a3 a5 Black is safe) 7...b6 8 e2 Hc2+
9 Le3 d7 (D).

a b ¢c d e f g h
o T, b i
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a b ¢ d e f g h

Black may be a pawn down but his rook
and king are very much more active than
White’s, which are tied to defending the

b2- and f2-pawns. Black will play 10...&c6
and begin annoying the rook. He should have
no trouble saving the game. His activity is
worth the pawn!

Activity is the keyword so 5§ &e2! ¥e8 6
d3 (D) is much better for White.
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Now it is Black whose king and rook are
tied to defending pawns and to make matters
worse the white king is now defending the in-
vasion squares €2 and c2 so Black has no
chance of invading with his rook. Indeed, since
6..&f8 is answered by 7 Hd7 Black can’t
move either of his pieces! Black will just have
to advance his pawns move after move, creat-
ing weaknesses and problems for himself as
he does so!

You should always try to avoid allowing
your pieces to become passive defenders and
this especially applies to rooks in the end-
game. The rook is very good at attacking en-
emy pawns, but it is much less effective when
tied down to defence.
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57 Rooks Belong Behind Passed Pawns

A rook will be more active if it is behind a
passed pawn.

- N W & OO O N O
= N W A OO O® N

a b ¢c d e f g h
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Now we can imagine a white king arriv-
ing on f6 and the pawn promoting.

a b ¢c d e f g h

If it is Black’s move in this position he

will play 1...Rg3 to attack the pawn from be- If we reverse the position of the rooks, we
hind and White will have to defend fromthe seethe problem of a rook infront of a passed
side with 2 XeS5 (D). pawn.
a b c¢c d e f h a b ¢c d e f g h
8 %% %% % 8 8 %% %// %/ 8
e E E EomoE R
6 6 o] 7 . o " . } B
5 5 s, .0 1 s
4 ¢ 0, 0,
3 8 8 2,7, _ > 3
2 2 o 7 7, K P
1 1 1 B B W
a b c d e f g h a b c d e f g h
Now it will not be easy for White to ad- How does White get his rook out of the
vance his pawn any further. way of the pawn? With difficulty!

If it is White’s turn to move, he will play 1
Bg2 putting the rook behind the pawn to In the following position, Bobby Fischer
support its advance and Black will have to  was Black against Carlos Guimard at Bue-
defend with 1...Bc7 2 g6 Rg7 (D). nos Aires in 1960. He had just played 1...e4.
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Black threatens 8..Hd7+ 9 ®c2 12 so

The ultimate position! The black rook sup-
White tried 8 Rh1 Xd7+ 9 ®c2 and resigned

ports its pawn from behind whilst the white
rook can only wait to be evicted fromel.

® N © 0 MO N -

after 9... g2
Try for Yourself 34
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White has a passed pawn. How should

(The solution is on page 138.)

4 Xhl €2 5 Rel 5 6 &c2 $f47d2  Black deal with this problem?

*f3 (D)

ends up sitting passively on el.
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58 The Rook and the a-Pawn

An endgame position which often arises sees
one side battling to promote a passed a-pawn
with the help of a rook.

b ¢c d e f g h

N N EETEG

(]
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Q
(1]
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g h

When the rook is in front of its pawn there
are three important points to note:

a) If the white rook moves, the black rook
can capture the pawn.

b) If the white king advances to b6 to
defend his pawn and free his rook, he has
nowhere to shelter. The black rook simply
checks him and drives him away from the
pawn by ...Ebl+ and after &c7 the rook re-
turns to duty on the a-file with ...Xal. White
cannot free his rook.

c) The black king can only use the
squares g7 and h7.

If 1..2f6 (1..&g6 and 1..h6 are met
similarly) White replies with 2 Rf8+ (check!)
and then promotes his a-pawn.

If Black plays 1...&f7, then White catches
him in a skewer: 2 Xh8! Hxa7 3 Rh7+ win-
ning the black rook.

Now let’s see how these points apply in
some specific cases where both sides have a
number of pawns on the kingside.

a g h

E///

- N W A N ®

bcdef

Points ‘a’ and ‘b’ still apply. White can
make no progress with his a-pawn. Point ‘c’
doesn’t apply because now Black can hap-
pily bring his king out to g6, where he is
sheltered by his own pawns.

The game will be drawn.

In fact the game will always be drawn if
the white rook is in front of the a-pawn un-
less Black’s king is trapped on h7 and g7 and
his pawns are horribly weak or White can
create a passed f- or e-pawn to deflect the
black king.

- N W A OO ON O
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In this position White needs to get his
king to g5. The game Walker vs Holland,
Oxford 1962 continued 1 %¢3 $h7 2 b3
Hal 3 Dcd Pg7 4 d4 Ph7 5 Ded Had+
6 &f5 Lg7 7 g5 (D) and Black lost an-
other pawn. The advantage of two pawns is
enough to win.

- N W A N>

If the roles of the rooks are reversed and
the white rook is where he ought to be, be-
hind the passed pawn, White has a better
chance of winning, especially if Black’s
kingside pawns are weak.

abcdefgh

133

Now White has a plan. If his king gets to bS
he will drive Black’s rook away.
So, 1 ¥¢3 c5 2 b3 b5 3 Kal (D).
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Black has prevented the white king from
reaching b5 but he still has a problem.

He can’t play 3..Hxa5 4 Hxa5+ &xa5 5
Fc4 2b6 6 Rd5 since he loses both his king-
side pawns. 3...&c5 4 ®ad, with 5 Ecl+ and
6 b5 to follow, is no improvement for Black.

So, 3...Ha7 4 a6 Ra8 5 a7 LcS 6 &c3 TbS
(or 6..%d5 7 ¥b4) 7 Pd4 Pc6 8 LeS (D)
and by switching the point of attack White
wins the kingside pawns.

abcdefgh

- N W A O O N O
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59 Cutting Off the King

- N W d O N ®
- N W A OO N ®

This position is from earlier in the Gui-
mard vs Fischer ending given on page 133.

We might expect that Bobby should play
1...Re7, putting his rook behind the pawn.

He didn’t!

And why not?

Because after 2 &c3 e4 3 £d2 e3+ 4 e2
(D) the king has blockaded the pawn.

a b ¢c d e f g h
1 om E L
o\ kW
5@@;%%/@5
e & w =
) B % N
1 7 7 |

a b c d e t g h

After 5 2d3 White will surround and cap-
ture the pawn!

Bobby’s problem was the white king.

How to deal with the problem?
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Cut off the king! Prevent the king from
reaching the e-file.
Bobby played 1..Xc7 (D).

WM T
// %%
ik v
/ W "
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a b ¢c d e f g h

With White’s king trapped on the queen-
side, only his rook can stop the black e-
pawn.

OK, I hear you say, if rooks belong be-
hind passed pawns, why doesn’t White play
2 Xd8 e4 3 Ee8?

Good question!

Look back to the lower diagram in the
previous column. Black had to advance his
pawn without the support of his king.

Why?

Because on dS the white rook is cutting
off the king, preventing him from advancing
into White’s half of the board.

Now after 3 He8 Black can play 3...&f5
and his king shepherds the pawn to el.

Kings are powerful pieces in the endgame.
Rooks control lines.

Use your rooks to cut off your opponent’s
king from the action!
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60 Zugzwang

Zugzwang is a chess term to describe a sit-
uation in which it is your turn to move and
you wish it weren’t! If you could just sit
there and do nothing, if you could just pass,
you would be OK ... but you can’t, and any
move you make leads to disaster.

If it is Black’s move in the diagram be-
low, he is in zugzwang.

Black has ten legal moves and they all
lose material!

He can’tmove his king. If he does, White
will play ®e5 or c5 and start collecting
pawns.

He can’t move his bishop. If he does,
White will play either £xd5 or £xhs5.

He can’t move his a-pawn. If he does, it
will be captured.

If Black could leave all his pieces where
they are, everything would be fine as White
has no way of breaking into his position.

135

But he can’t; he has tomove something, so he
is in zugzwang.

You have seen before when fighting to gain
the opposition (whichis a special type of zug-
zwang) that it is sometimes useful to be able
to lose a move. And that is just the case here.
White needs to manoeuvre and return to the
diagrammed position with Black to play. Then
Black will be in zugzwang.

How does White lose a move?

Can he triangulate with his king?

No. He must lose a move with his bishop.

Here’s how!

1 £e2and now Black must move his bishop
to a square where it still defends the h5-pawn.
One possible continuation is: 1...2e8 2 £d3
£g6 3 Sc2 Rh7 4 b3 Kg8. The white
bishop has an almost magnetic effect. Every
move the black bishop has to follow him, de-
fending the attacked pawns. 5 £d1 £f7 6
£f3 and we are back where we started, only
White has managed to lose a move! It is now
Black to play and he is in zugzwang.

Try for Yourself 35

Suppose instead of 1...2e8 Black had played
1...£g6 in the variation above. How would
White have won then? Remember you are
just manoeuvring your bishop around so that
you will be ready to play &f3 as soon as
Black has been forced to play ...&f7.

(The solution is on page 138.)
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61 Exchanging in the Endgame

a b ¢c d e f g h

Here, White is two pawns ahead and he
should win with his extra material. How-
ever, Black’s queen and knight are strong
and active. Winning won’t be easy and it
will certainly take a long time.

If White were able to exchange all the
pieces, it would be easy:

a b ¢ e f g h
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f g h

Winning theking and pawn ending is sim-
ple for White.

This gives you the first general rule: if
you are winning on material, try to exchange
pieces.

The second general rule is that if you are
behind on material, the more pawns you can
exchange, the better.

Pawns can become queens!

In the next example, from the game Epa-
shin vs Galimov from Leningrad 1977, Black
is a piece for a pawn down and looks in big
trouble.

- N W e N D

abcdef

Black can’t save himself with 1...&g6 be-
cause of 2 &f8+ forking everything; e.g.,
2..%h5 3 Hxh7 dxh4 4 g6 and the pawn
queens.

However, Black can solve his problems if
he manages to eliminate all the pawns. White
cannot force mate with just king and knight.

One way to draw is 1...f4! 2 De5 h6 3 g6
£3 4 Dxf3 Lxg6 and ...Lh5-g4. In the game
he chose another way to achieve the same
goal:

Black played 1...h6!. If White exchanges
pawns by 2 gxh6+ &xh6, he is left with just
one pawn. This is the point of Black’s play.
If he can eliminate this last pawn, the game
will be drawn. And that is just what will
happen: 3 He5 ¥h5 4 Df3 e5 (D).
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If White doesn’t play 5 @xe$5, the pawn
will advance to e4 and attack the knight.

Either way, the knight disappears from
f3 and the h4-pawn drops.

In the game Epashin wried 2 £e5 hxgs 3
hxg$S (D) and he seemed to be controlling
h6, g6 and f6 very nicely. However...
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abcdefgh

3..f4! 4 Sb3 13!

Pawns don’t matter to Black. He’s not
trying to win. All Black is interested in is
destroying the g5-pawn!

5 Dxf3 2g6 6 c3 57 d3 f5(D)
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Here a draw was agreed. When the black
pawn advances to e4, White’s knight will be
driven away from f3, after which the g5-pawn
is lost.

If you are winning, exchange pieces: if you
are losing, exchange pawns!

Try for Yourself 36
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White has an extra pawn. What is the sim-
plest way for Black to hold the draw?
(The solution is on page 138.)
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Try for Yourself Solutions

30)

Yes and Yes! Black uses the side opposi-
tion idea to win the pawn: 1...2a4 2 &b2
&bd 3 L2 Rcd 4 $d2 Dd4 5 Pe2 D3 6
&2 2d2 7 Df1 Le3 8 g2 Le2 and the
pawn drops. Now after 9 &gl xf3 10 &f1
even though White has the opposition he
cannot prevent the pawn from promoting:
10...%0e3 11 el £3 12 11 £2 13 2g2 e2,
etc. Note that Black gets nowhere with the
immediate 1...2b4? 2 b2 P4 3 dc2 Ld4
4 &d2, etc., because White has gained and
kept the opposition.

31)

This could have been the position two
moves before our first example on page 122.
Let’s try advancing the white king. 1 ®e3
&e7 and Black has the distant opposition. 1
$d3 &d7 is just the same, as is 1 fc3 Le7!
2 2d4 &d6. To win, White must get the dis-
tant opposition. He does this by 1 &e2!.
Now 1...&e7 2 e3 gives the position in
the example we saw in ‘55°, which White is
winning. 1...f7 2 &f3 and 1..2d7 2 &d3
both lead to positions where White wins
with the distant opposition. 1...2d8 allows
White to triangulate into the position he
wants by 2 Sf3 Le7 3 e3, etc.

32)

If it were Black’s move, it would be easy
for White. However, it isn’t, so White will
have to find a way to lose a move and make
it Black’s turn to play. He can do this by 1
h6 gxh6 and now the harmless pawnmove 2
hS just wastes a move, leaving it Black’s
tum.
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33)

Exchange! Outside passed pawns are kill-
ers when only kings are left on the board.
After 1..2xc3 (note that the immediate
1...g5 2 fxg6 fxg6 3 £b2 only leads to a
draw) 2 xc3 a5 (the immediate 2...g5
also wins) 3 b3 g5 4 fxg6 fxgé White has
the typical outside passed pawn problem. If
he plays 5 a3 to look after his own pawns
Black will simply play 5...g5 and run his
pawnhometo gl. On the other hand, if White
rushes over to capture the outside passed
pawn he leaves his own pawns to their fate:
5 &c3 dxad 6 2d2 b3 7 2d3 g5 8 dd2
Pc49 el gd (or9...2c3) 10 2f4 Pxd4 11
Pxgd Le3, etc.

34)

If Black plays 1...Ha5 or 1...Xc4, White
puts his rook where he wants it, behind the
a-pawn, with 2 Ra3. However, Black can get
in behind the pawn first: 1...Hcl+ 2 &e2
Hal. This was how Smyslov was able to
hold the draw against Lipnitsky at the 1952
Soviet Championship in Moscow.

35)

If1..2g6,2 2d3 forces 2...2h7 and now
3 £f1 leaves Black stuck. After both 3...2.g8
4 Re2and 3...82g6 4 g2 he has to play the
move he doesn’t want to play, 4...£f7. Then
5 K13 leaves him in zugzwang.

36)

If you have noticed that White’s bishop is
the wrong colour for promoting the h-pawn,
you are on your way! Black draws most eas-
ily by 1...22xf4! 2 gxf4 gS!. The white f-pawn
will be exchanged and the h-pawn cannot
promote.



8 At the Board

62 It’s Winning that Matters 140
63 The Art of Swindling 142
64 Simplification 144

A computer has one big advantage over you. It’s not human so it does not experience emo-
tions.

Itisn’t aware of who it is playing and cannot be frightened by the strength of the opponent.

Its heart doesn’t beat faster as the game gets exciting or as time-trouble approaches.

It doesn’t become bored, irritated or impatient.

It doesn’t have any fear of making the wrong move and losing.

It is not aware of any audience and it doesn’t have friends or team-mates waiting to jump
in and tell it where it went wrong and what it should have done.

It is not distracted by anything else in the room.

It is not concerned by the state of play in the match or tournament.

The computer can just sit there and churn out move after move in a totally unemotional
state of mind.

For you, things are very different!

You have to learn to control your emotions and try to be a little more like the computer.
Letting out a groan when you realize you have blundered will only tell your opponent he has
a good move.

Getting over-excited as winning appears close makes it more likely you will make a mis-
take.

Getting bored or impatient with a position again is likely to lead you to mistakes.

Looking impassive, bored even, is often a good idea, particularly if you are setting a trap.

Looking confident is always a good idea, even when you are losing.

You should generally try to forget who you are playing. Play the board in front of you. If
your opponent is much weaker, you should possibly try to avoid unnecessary complications
and if he is stronger, you should perhaps seek complications as this makes blunders more
likely and so randomizes the result.

In practical play there are three ideas for you to consider. Read on...
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62 It's Winning that Matters

“It’s not the winning ...
that counts.”

I don’t know who originally penned this
oft-quoted nonsense but he obviously wasn’t
a gladiator in the Roman arena! Nor did he
ever exhaust six or seven hours of mental
energy in one session at the board in a chess
tournament.

It’s winning that matters.

“The true value of a chess-player lies not
only in his superiority as a sportsman but
also in his creation of beautiful games that
provide aesthetic pleasure.”

I do know who wrote that. It was Eduard
Gufeld, grandmaster and author. What he
doesn’t warn his reader is that in searching
for beauty, a player may fail to prove his su-
periority.

It’s the winning that matters and not so
much how the win is achieved.

Kasparian unwittingly provided a good
example:

it’s the taking part
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Kasparian (as Black) had outplayed Rom-
anovsky in their game in the semi-final of
the Soviet Championship of 1938.

Kasparian had an extra pawn, the better
pawn-structure, a good knight against a
bad bishop, the safer king and more actively
placed pieces. He only had to play sensibly
and patiently to convert his advantage into a
win.

Genrikh Kasparian, however, was not just
a master at the chessboard. He was a bril-
liant composer of chess studies and was to
become an International Grandmaster for
Chess Composition. He devoted much of his
life to composing chess positions which had
clever, artistic and unusual variations hid-
den within them.

When Kasparian reached this position his
eyes lit up! He had found a study-like finish.
He had seen 1...Rxh3+ (D) and realized that
Romanovsky would have to capture the rook.
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He had seen that 2 &xh3 Wh4# was mate.
He had seen that 2 £xh3 &f3 was mate.
Wonderful! For a study composer this
was an absolute delight. To beat the great
Romanovsky, the first Soviet chess-player
to be awarded his nation’s highest honour,
‘Master of Sport’, was one thing. To outplay
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him and crown the victory with a beautiful
combination would be something else!

Kasparian gleefully played 1..Hxh3+ and
Romanovsky replied 2 £xh3. Kasparian’s
hand snaked out to grasp his lnight but the
smile left his face as Romanovsky’s hand
landed firmly on top of his. As realization
dawned that his knight was pinned, Kas-
parian had to resign.

In his excitement and in his desire to be
artistic and clever, Kasparian had thrown
away several hours’ work, victory over a
famous name and qualification for the So-
viet Championship. He had also been re-
minded that winning matters.
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The junior who was White in this posi-
tion saw that he could give checkmate by 1
DeT7+ Lh8 2 Wxh6#.

However, he played 1 &xh6 and proudly
looked around to ensure that there was an
audience to notice 1...gxh6 2 Dxh6# and
admire the brilliance of his queen sacrifice.

Black simply played 1...Bxa2+ 2 &xa2
Ha8+ 3 &bl gxh6 (D) and won easily.
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Black has gained f8 as an escape-square
for his king and White has learned that it is
winning that matters!

Lasker, Capablanca, Alekhine, Euwe, Bot-
vinnik, Smyslov, Tal, Petrosian, Spassky,
Fischer, Karpov, Kasparov, Kramnik. World
Chess Champions!

And what are they famous for?

For being World Chess Champion.

Really only Mikhail Tal is remembered for
his style of play and spectacular sacrificial
games. The others all played (or still play)
wonderful chess but they will be remembered
more for what they achieved rather than how
they did it.

Remember: your aim at the chessboard is
to win. You are not there to be clever. You are
not there to be an artist. You are there to get
one point next to your name on the score-
sheet. If you can play a great game at the same
time so much the better — but don’t try to be
too clever.

It is winning that matters.
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63 The Art of Swindling

Mikhail Tal was losing. There was no doubt
about it. He had played the opening dread-
fully and by move 18 he had lost a rook.
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No doubt Tal gave serious consideration
to resigning.

Itis very easy tobecome demoralized and
resign quickly after you have played badly
or blundered away material. However, you
should never resign until you are absolutely
certain there is no hope left in the position.

So Tal looked to see if he had any hope at
all. What do you think? Does he have any
compensation for his rook?

Well, he has two extra pawns.

He has a lead in development.

He has an excellent pawn-structure.

His pieces coordinate well.

There are no weaknesses in his position.

His g7-bishop has hidden threats against
White’s al-rook.

White’s pieces have deserted their king.

There are weak light squares around the
white king for him to attack.

Tal in fact has quite a lot of little things
going for him. Added together, they certainly
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aren’t worth a rook but they are at least
something to work with.

That said, what Tal really needs is a little
help from his opponent!

In this game from the Amsterdam Inter-
zonal of 1964, Tal’s opponent was the Hun-
garian grandmaster Lajos Portisch, a top
player and a man not noted for his chess-
board generosity. Portisch would need to be
encouraged to make a mistake; he would
have to be swindled.

The game continued 18..Xc8 19 Wdi1
Ded 20 £3 a6 21 Hxd4 Wds (D).
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Your first step in trying to swindle your
opponent is to give him plenty to think
about. Tal is complicating things so that at
every move Portisch has a lot of possibilities
to consider. All of Tal’s pieces are becoming
active. There is a threat to the d4-knight, the
al-rook is hanging, a ...Dxg3 sacrifice is in
the air, and the c3-square is awaiting inva-
sion by a knight or rook. 22 fxe4? Wxd4+ 23
Wxd4 £.xd4+ is great for Black so the game
continued 22 £e3 Hc3 23 Ndc2 WIS 24 g4
We6 25 £d4 hS 26 L.xg7 hxgd (D).
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As Tal said, “He kept capturing my
pieces, so I smashed up his king’s posi-
tion.” Most of the time Tal is not playing
the ‘best’ move in the position. He is play-
ing moves that make the game more and
more complicated and give him the best
practical chance of swindling Portisch. He
is seeking moves that will put fear and
doubt in Portisch’s mind, and will lead him
to make a mistake.

So for a moment just put yourself in
Portisch’s place. You’ve been winning for
a long time but your opponent hasn’t re-
signed. Instead he’s been activating his
pieces and complicating the position. It’s
frustrating; it’s irritating. Tal is a rook and
aknight down. His existing rook and knight
are both en prise. Yet he still won’t lie
down and die! Now he is smashing up your
king’s position. You must still be winning
but ...

27 Dd4 WdS 28 fxed Yxed 29 Hf3
We3+ 30 ¥h1 Lc6

your frustration and irritation have
passed through anxiety and worry and ar-
rived on the doorstep of fear. Portisch
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would have been trying to stay calm as he
waded through the confusing complications
in front of him but he would have been fear-
ing the danger to his king, and he would un-
doubtedly have been wasting time thinking
and cursing to himself about what might have
been done earlier to have avoided this mess!

31 Xf1?

In fact, if Portisch had been able to focus
on the chess position before him, he might
now have found an accurate move such as 31
&c2 or 31 Wd4, when he should still be win-
ning. Instead ...

31...Kxa3 32 Wcl gxf3 33 Wxc6 Wxe2 34
Hgl dxg7 35 Hael Wd2 (D)
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36 2d1 We2

Tal, who might well have considered play-
ing for a win with 36.. Wxb4, settles for a
draw by repetition.
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If you are losing, try to swindle your oppo-
nent by complicating the position as much as
possible. Make him worry. Put in his mind the
confusion, doubt and fear that will lead him to
make a mistake.
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64 Simplification

If you are losing, you should complicate the
game. You should try to confuse your oppo-
nent.

But what if you are winning?

That’s easy! You should do exactly the
opposite.

Keep things nice and simple.

Avoid unnecessary complications.

Don’t give your opponent any chance of
counterplay.

Paul Keres provided a good example in
his game with Goldenov atthe Soviet Cham-
pionship in Moscow in 1952.
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Keres (White) is winning. That is clear.
He has the material advantage of a rook fora
knight. But finishing the game may not be
so simple. To begin with, all of Keres’s own
pawns are isolated. He wouldn’t want to lose
or exchange too many of them as he would be
most unlikely to checkmate with two rooks
against a rook and knight. Then there is the
black e-pawn to consider. It is passed, ad-
vanced and dangerous. Then there is that
black knight smack in the middle of the
board.
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As long as it is allowed to sit there, Keres
will have to worry about the possibility of an
annoying fork.

Winning could be a lengthy and difficult
process!

Keres, however, saw a way of making
things easy for himself. He simplified the
position.

Keres played 1 Bd8+ ®e5 2 H8xd5+
HxdS 3 Exd5+ &xd5 4 a4 (D).
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By giving up his material advantage, Keres
has removed any possible danger to himself
and simplified into an ending that he can win
easily.

The a4- and f5-pawns are the key. Both
threaten to advance and promote and the
black king is torn between them.

If the king goes after one of the pawns,
the other one romps home.

The game finished 4...h5 5 f6 hd+ 6 g4
Le6 7 as e3 8 f3 g4+ 9 Lxe3, and Black
resigned.

Remember: when you are winning, choose
the simplest route to victory!
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